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Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Attempt any two of the following : [16]
a) Contrast the attitude of the woman to herself with the attitude of the
mirror to her.
b) Why was the announcement of Gandhiji's death delayed?
c) What is the theme of the poem 'leave this chanting and singing and
Telling of Beads'? Explain.
d) Why did sigaev lie to the shopkeeper about wanting to buy a revolver?
02) Attempt any four of the following : [16]
a) What, according to William Shakespeare are the seven stages of human
life?
b) Give a character-sketch of Uncle Podger.
c) What is the central idea of the poem ‘The Affliction of Margaret’.
d) Show how the life of the people of Nicobar was badly affected by the
‘tsunami’.
e) What does the poet suggest in the poem ‘Gather ye Rosebuds while ye
may?
f)  Consider ‘The conjurer’s Revenge’ as a humorous essay.
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03) Attempt any two of the following :

a)
b)

c)

d)

Write an essay on ‘Democracy in India’.

[16]

Write a letter to your friend for congratulating him on his success in

MPSC examination.

Justify your views in the light of the following proverb ‘Sound mind

in a sound body’.

prepare a dialogue on the following situation. you meet your friend at

a bookstore after a long time.

04) Attempt any eight of the following :

a)

b)

c)

d)

g)

h)

Give synonyms of the following words :
i)  Street i1) Nation
Give antonyms of the following words :

1)  Strong i1) Destruction

Choose correct alternative and rewrite the following :

Why did you .......... this T-shirt. It looks odd.
(put off / put on)
From one word each using the following suffixes :

1) tion

i) ly
Make adjectives

i)  Comfort i) Calmness
Use the following phrases in your own sentences :
i)  to fall down i1) to look into
Give one word as substitute for the following :

1) A man who is unmarried.

i1) A place where patients are admitted.

Give full forms of the following :

i) CID i) MLA

Give short forms of the following :

i)  Board of college and University Development

i) Indian Administrative service.
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J)  Give noun forms of the following words :
1) to examine 1) to sing
k) Fill in the blanks choosing suitable words from the brackets and
rewrite :
i)  The two Indian leaders aghast at his words. (look/looked)
i1) The Director hurried a spot. (towards/to)
05) Do as directed. (Any eight) : [16]
a) Pratik likes coffee. (Make a formal question)
b) The servant brought him up a card. (change the voice)
c) ‘Doctor, have you heard anything about my family’? He said (change
into indirect speech)
d) It was passed to him. (Add a question tag)
e) Theoldfoolwasleaning___the chair. (Use appropriate preposition)
f)  Write a sentence that begins with ‘I should ’
g) I have been calculated my salary. (correct the sentence and re-write)
h)  Will you please bring me a glass of water? (Make it imperative sentence)
i)  Combine the following sentence and re-write.
They received a comment. They became happy.
J)  look thats mine said the director (Punctuate the sentence)
k) earth moves around the sun (Use suitable article)
1) I drank / swallowed a cup of coffee sip by sip. (Use appropriate verb)

L
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[4801] - 102
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TSt
G-1: 3L AW ATTHA
(2008 Ue)
gz - 3 arq] [ Tgor 77o7 - 80

qISIgEds — i) AT (Fferd @& aug)
ii) @reaHEGt (FHiaar aug)
iii) =TEETRS qerdt
JaAr :— i)  ad G9T HTavTE .
ii) IFAFIHSIT HF TeA1R Ul JoT FoIfaara.

g7 1) ) Eelterieht svrerd am TvarEh 150 veai W ferer. [10]
i) gEEETerRTEAT STt RO T SFEO YA AR ?
ii) ohTHHT TS HIVeATd TTEATTRTS Hgwa |,
iil) TR HEETEE emaRT 9 itfrer @i
iv) \hR %Y w9 ITETE ? |,
T) WA FIUTETE g9 TeAEn 150 wegia S ferer. [10]
1) cafwr o e g WY w1
i) afwaa faRmmEESt eravas ges ogwTda |,
i) WUTHUTTR kR TIE T,

iv) dTeHsIveaT™ WREe |,
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%) WIEIETih HIUTETE g1 TeArEn 150 wegia 3w ferer. [10]
i) SITHIETUHIE TE geh iV ? ATSFTd TR,
i) onyFew FTdIeT TARATIT SUIhal favrg &,
i) TEIT AT TARATEAATT HATAYTHAT TIE .

iv) adaEET o ffRuamEtdt wiveRen Myl saverehdr @a ?

777 2) 1) W B T i 20 e I . (5]
i) ‘o = g quik fa. 3. urR it wa Fo e ?
i) ‘mgw’ w<hrel e SO ?
iii) a9 Rewama @ AT TdE RO ?
iv) " wur AT $feU wa A Wi ?
V) YT NPk TAT AU hivTd IR0 aroren fere ?
vi) GEor wUs w7
vii) ag T A T w7
) welterish ForEg v A 20 e s . 5]
i) aEd aTge FTET HIETE F HTeETEE AT A,

ii) SITE AT AT HITAAT BT fawT sAfrspa Tt g ?

[4801] - 102 2



iii) ggfora wreRTa TeaT wiqden ‘e’ wivET o ?

iv) ‘arer’ I widdqy amwAeTeT weeh STHATET HITET qaTe T ?
V) T UEeRTil MU Rl T AT ?

vi) ‘argelt’ wieaay T UEwHiHl T wile I ?

vil) ‘“Get’ a1 Hfadd TATEhTAT Tk ATRIRAT HT TZural ?

gy7 3) 1) Wreficraehl sHuTeATar Tkt T3 50 vregra I forgr. [5]
i) TR MYt faemR wE Afaswt adt wd yetggen AT ?
i) 3few g At oM @1 e aadeaT arETe quie A hel AR ?
q) WA eTdehl ShIUTATE! Teht TvATa 50 vregia S forgt. [5]
i)  ‘vites @maT sfer’ A1 SgEiTa WTARTE FT=AT Shidd= ST TU8 o,

i) ‘e AT HiAddIA ATAE AT AR ATeATA A ATAHSE HEAT FRATTAT
AR ?

97 4) Wiefietaeht ‘a1’ i ‘&’ Terdiel Tedeht Ueht UgATel SR 150 vrsgma forgr. [15]
) i) Y. . U T FTAgHL A TUIEURTAAT™ T hel 3T ?

i) ‘amHEE : qEETE e 3T 91 SRaTae aTagIeredn A Ted
Y .

) i) FEd SO AT TIYS FHiGAqd B Td T hedl ?

ii) ‘Tgelt’ Hida T TGS HIVIA he, Fd AiSaTd ?
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g7 5) @refieideht ‘31’ nfur ‘&’ TeTdiel Uedehl Ueht UgATa SR 300 vrsera forgr. [15]
) i)  “urdt enfur dig I SRET UTdge dEeRTe Siad w3 ggd ? A forer.

i) SIS TeaTeR ATAet FIHT iRaent forfaferan wregient Tt
Y AR R ?

q) i) T o A e ared FieAn shidds U0 .

i) T UBdeRt IqTAT shidd= afsTsst |,

2
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MARATHI
G-1: STATEgTeh o IUANTd AIST
(2008 Ue) (U= AATEHA )

Je : 3 arE] [ Tgor 77o7 - 80

gear .~ 1) @d g9 @isfavt smavasds Sigd.
2) S9HiIESIeT 3idk FvATE QU T FIaara.

Ty 1) @refteraeht SHivTETEl gt TeAre W 20 vegia foter. [20]
1)  WTYT U T ?
i) aTEET wEY @R,
i) TR ST Wi W ?
iv) w9 oEd U e ?
v) Ot wufies wivied Siv ?
vi) UEer arRvarEn 1Y "R areRTd SUART .
3T)  SATHTIT TIEUr
) ATt gag o
*) ureren fawer 9ot
T) ORI hIEST HI0

vil) Ui wg<a @,



viii) geter fawamer wveres aaR 1.
H) THEH
q) UIrERor
iX) Y AT HE HIUA ?
x) et g e O wnRenRe weg fe.
a) Vacancy
b) University
c¢) Incometax
d) Reservation
Xi) ¢g GHTER I YRR FISEI0 .
Xii) HHTYUT= ThR |,
Xiii) STUT IV GURUIATA IUTA HA.

gy72) ) WTcATcTdehl hHIUTATE Tkt UvAT=l 3T 50 vreqra fergr. [5]
i) Hfga AT sty foeg .
i) e Jgere frem wmm.
F) WA Ia=ara ARIvTAE . [5]

AT FE W WETHY TRV HTE SpE UiTe Sor earie el
ITEA. TS Hged 39 T TR TR od. W Al aft greaera @ frem
TR’ . T IUGY THETHIHT AT I SheAl grar. STl & e Aral
ST Tedes W Sawhl — Tl Sh1an UamgTH AT farel i STedmar S ol shgearedn
SATUT GEASTEAT TUM. UM @R ATUCATE! AAHEEAT odS] SABUaTaTe!
3Telt uTfgst, foem S=R AT gt at SEdl ST quataeitear i,

efteRe & a1g faNw Iehed Ad | WA U S AT Sherehiet
YN HEA TThS AT, SATTHATRGT THTATY hTE STALT HISIT, d IRUIT AT
T YA ST STTeA ATV TATATEAT ATARTA ATATISA THE WE UUR Y
TR, FATAT YeTl U fiRad ATed. STan JHTSiert SR g @ a
THIGTHTER TSRTITTE TRTH B13; ITohd 3 SREEH QUT=ITeaT TRATET SAT(UT ST,

(vrs7 - 149)
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gy73) 1) Wciicrdehl HIureTdl Teht fawamer 150 vregiaeia dare @@ . [10]
i) st fagkar smifor e
i) veTiEeeh el T HIUT=AT Afgen anfur feremeff
F) Wl U Ia=ara WS WTHTae o, [10]

One day the King saw a poor man working in the field. It was
very Cold day, but the man had very few Clothes on. He was singing
merrily while he was working . The King went to him and said, “Don’t
feel Cold in this weather?” The man replied, “No, I don’t feel the
Cold. You See that I have to work very hard. That makes me warm.”
Then the King said to him, “You seen to be very happy. Are you
really happy?” The man replied “Of Course, I am. I have no time to be

unhappy”’.

7y74) 1) Ydreraeh wivreErgt TRt fawamer 300 vegrweda frae forgt. [15]
i) OITeRuT TRV : WIS TR
i) et T vt
iii) <rgUaTdier Wewhdl (fer)

q)  YEreieh! vt TRt fawamat 300 vregiadta wdieror W, [15]
i) ared wwhdl
ii) 9 efor @O
iii) wfEden erfereRr
363636
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[4801] - 104
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Time : 3 Hours] [Max. Marks : 80

Use of a dictionary is not allowed.

Frage 1. Uberstetzen Sie die folgende Texte ins Englische oder Marathi! (20)
A) _ 07

Das Wandern ist des Miillers Lust. Wandern bedeutet fiir die Deuschen mehr als nur spazieren
gehen oder Ausfliige machen. Um 1900 begeisterten sich junge Leute, Arbeiter und Studenten
fiir das einfache Leben in der Natur und griindeten die “Wandervogel” Bewegung. Heute geht
es nicht so romantisch zu wie damals, auch wenn man oft noch die alten Wanderlieder singt.
Die Deutschen sind auch gern mit dem Fahrrad unterwegs. Ausldnder staunen oft lber die
vielen, gut markierten Radwege nicht nur in landschaftlich schénen Gebieten sondern auch in
der Stadt.

B) Sag mal, wer bist du? 07
Florian (19): Fiir mich ist der Erfolg bei der Karriere das Wichtigste. Aber wegen Karriere will ich
meine Freunde nicht vergessen. Die Freunde und die Beziehungen sind fiir mich genauso
wertvoll wie die Karriere. Ziele fiir die Zukunft: gutes Einkommen, eigenes Haus und Familie.
Luisa (18): Ich bin ein offener Mensch. Ich mag neue Kontakte machen. Ich mag nicht allein sein
sondern immer mit anderen Leuten zusammen. Ich brauche immer Leute um mich herum. Ich
zeichne und male viel, z.B. Portrits von Menschen, die ich irgendwo getroffen oder gesehen
habe. Mein Traum ist Designer zu werden. -

C) Ubersetzen Sie drei der folgenden Sitze ins Deutsche! 06

Excuse me, can | access my bank account through Internet?

Earlier, woman used to look after the household.

Our school lasted for 6 hours. But still it was very interesting.

In Germany many people are concerned about healthy food.

They distribute prospectus and pens to the companies as advertisement.

Wi QiR e

Frage 2. Beantworten Sie die folgenden Fragen! (nur 8) (16)

1. Was ist dein Traumberuf? Warum?
2. Was ist Petra Becker von Beruf? Welche Vor- und Nachteile hat ihr Beruf?
3. Was weisst du liber Frankfurt?

PTO.



Wie wird das Leben ohne Handy und Fernseher sein?

Welche neue Lebensformen findet man in der deutschen Gesellschaft?
Wie ist deine Beziehung mit deinen Eltern?

Wie verbringst du deine Freizeit?

Was ist fiir die indischen Jugendlichen wichtig?

Welche sind die Meilensteine der europiischen Geschichte?

10. Wie wird die Arbeitswelt von morgen aussehen?

WeeNON N

Frage 3) Grammatik und Wortschatz
A) Bilden Sie Partizip Perfekt! (nur 5)
1. Andrew kann es sehr gut.
Die GrofReltern sehen die Kinder spielen.
Du musst auf das Rauchen verzichten.
Die Mutter ldsst das Kind allein fahren.
Rita hort ihre Freunde singen.
6. Das darfst du nicht.
B) Ergdnzen Sie mit Préateritum!(nur 5)
1. Heute lduft er nicht so schnell. Friiher
Heute wadscht man die Wasche mit der Waschmachine. Fruher
Heute gehen die Frauen aus dem Haus und arbeiteten. Frither
Jetzt gehort die Wohnung einem anderen. Frither
Heute schreibt man Emails oder SMS. Frither
6. Heute spricht Herr Braun ziemlich viel. Friiher
C) Bilden Sie Passiv! (nur 5)
1. Der Postheamte frankiert den Brief.
Die Lehrerin las die Aufsétze in der Klasse.
Onkel Heinz wischt sein Auto jeden Tag.
Man kann das Formular per Internet schicken.
Der Arzt untersucht die alte Frau.
Man parkt die Autos hier.
D) Verblnden Sie die Satze! (nur5)
Die Jugendlichen machten méglichst schnell ausziehen. Sie versuchen es immer.
Rita hatte Fieber. Sie ging zur Priifung.
Das Ausziehen bedeutet Freiheit. Das bedeutet auch Stress und Arbeit.
Man fahrt ins Ausland. Man bekommt da bessere Berufschancen.
Eine Wanderung in die Berge ist anstrengend. Sie ist auch sehr spannend.
Man beginnt zu essen. Man wischt sich die Hande.
E) Bllden Sie Relativsatze! (nur 5)

ok W

nhwn

DU AW

R N N

1. Italien ist seine Heimat. Er hat dort lange Zeit gelebt.

2. Die Kinder sind sehr froh. Sie haben Ferien.

3. Dasist meine Cousine. Ich gehe gern mit ihr spazieren.

4. Meine Nachbarin ist sehr nett. Sie hilft uns immer.

5. In Deutschland wohnen vielen Tiirken. lhre Kinder sprechen gut Deutsch.
6. Das ist die Professorin. Ich habe ihr das Buch gegeben.
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F) Ergénzen Sie die Prapositionen! (nur 5) 05
Die Eltern denken immer die Zukunft ihrer Kinder.

Auslénder staunen oft die gut markierten Radwege in Deutschland.

Der Student bittet seinem Professor _____ Rat.

Denkst du deine Kindheit?

Erzdhle mir etwas __deinem Kurs!

Wir leiden sehr dem Verkehrslarm.

ok wnE

H) Ergénzen Sie das passende Wort! (nur 4) 04

Hotel Mama : so richtig schon .

An der Spitze der modernen steht Treue.

In den aiten Zeiten war eine berufstatige Frau eine

Bei einem kauft man Fleisch.

Das ist ein neues ‘City Pride’. Hier laufen mehrer Filme auf ein mal.
Stell die Milchflasche in den . Ich méchte kalte Milch trinken.

ounkwNE

Frage 4. Lesen Sie den folgenden Text und beantworten Sie die Fragen! (10)
Liebe Maria

Wie geht es dir? Uns geht es gut. Martin hat jetzt eine neue Stelle und ist in der neuen Firma
wirklich gliicklich. Tina geht seit September in die Schule. Nur ich habe ein Problem.

Du weiBt ja, ich habe friilher immer gern gearbeitet. Meine Zeit als Sekretdrin bei Bosch war
richtig schon. Jetzt bin ich seit sieben Jahren Hausfrau und Mutter und mdchte gern wieder
arbeiten. Tina ist am Vormittag in der Schule und ich denke, in der Zeit kann ich etwas arbeiten.
Am Nachmittag will ich zu Hause sein uhd und mit Tina Hausaufgaben machen. Sie braucht
manchmal ein bisschen Hilfe.

Gestern habe ich die Zeitung gekauft und die Stellenangebote gelesen. Zwei Anzeigen waren
interessant: AGFA sucht von 7.00 Uhr bis 9.00 Uhr eine Putzhilfe. Sieben Uhr morgens ist sehr
friih aber ich denke, das ist kein Problem: Martin kann mit Tina frihstlicken und sie in die
Schule fahren. Er fingt ja erst um 9.00 Uhr an. AGFA bezahlt 210€ im Monat. Das ist nicht viel,
aber da muss ich auch nur zwei Stunden pro Tag arbeiten.

Die andere Stellenanzeige war auch interessant: Naukauf, der neue Supermarkt hier in
Reutlingen, sucht eine Verkiuferin. Der Supermarkt macht um 7:30 Uhr auf. Die Arbeitszeit ist
von 8:00 Uhr bis 12:00 Uhr, also jeden Tag vier Stunden. Neukauf bezahlt ganz gut und ich kann
sogar mit Tina friihstiicken und sie um halb acht selbst in die Schule bringen. Die Stelle als
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Verkduferin finde ich sehr interessant. Aber glaubst du, das geht: Vormittags arbeiten, dann zu
Hause putzen, kochen, waschen und am Nachmittag mit Tina Hausaufgabe machen?

Ich habe natiirlich mit Martin gesprochen. Er meint, ich soll nur ein paar Stunden am Tag
arbeiten, zum Beispiel als Putzhilfe. Zu Hause gibt es auch viel Arbeit und Martin ist am Abend
miide. Dann will er nicht mit mir putzen und aufrdumen. Was denkst du? Wo soll ich anrufen?

Schreibst du bitte mir schnell oder rufst du mich an?
Liebe Griife
Deine Sandra

(A) Beantworten Sie die folgenden Fragen! (04)
1. Was war Sandra friiher von Beruf?
2. Wie lange hat Sandra nicht gearbeitet?
3. Wie ist die Arbeitszeit pro Tag bei AGFA?
4. Wo kann Sandra als Verkiuferin arbeiten?

(B) Schreiben Sie richtig oder falsch! (04)
1. Martin ist Sandras Mann.
2. Tina kann alleine Hausaufgaben machen.
3. Neukauf sucht eine Sekretirin.
4. Martin moéchte Sandra abends nicht im Haushalt helfen.

(C) Kombinieren Sie! ‘ (02)
1. 210 € pro Monat a. arbeiten
2. Hausfrau b. gehen
3. Als Sekretérin c. sein
4. In die Schule d. verdienen
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Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi! [15]
A) (05)

Ich wohne in der BismarkstraBe. Das ist eine enge Strafle. Viele Menschen gehen hin und her. Dort
schen wir viele Autos, Autobusse, Motorrader und Fahrrider. Es gibt viele Hauser. Nur ein Haus ist
sehr hoch. Das ist das Schiller-Theater. In den Hausern sind viele Geschifte. Die Leute gehen in die
Geschifie und kaufen Sachen.

B) (04)

Das ist Angelika Wiechert. Sie kommt aus Dortmund. Jetzt lebt sie in Hamburg. Sie ist verheiratet
und hat zwei Kinder. Frau Wiechert ist 34 Jahre alt und Ingenieurin von Beruf. Aber zur Zeit ist sie
Hausfrau. Die Kinder sind noch klein. Angelika Wiechert hat zwei Hobbys; lesen und surfen.

C) Ubersetzen Sie die folgenden Sitze ins Deutsche! (nur 3) (06)

My friend Sandra is working as a salesgirl.
What is the time, Mr. Blumenberg?

The reporter is searching an apartment.
Mark does not need a computer.

We have done the homework.

A

Frage 2. Beantworte Sie die folgenden Fragen! (nur 05) [10]

Haben Sie Geschwister? Wie viele?

Wie groB ist Thre Wohnung?

Warum lernen Sie Deutsch?

Was kann man mit dem Videophone machen?

Wie finden Sie das Buch , Themen Aktuell 17

Was haben Sie in Ihrem Wohnzimmer?

Was essen und trinken Sie zum Friithstiick?

Was miissen Sie zu Hause machen?

Sie mochten im Restaurant etwas bestellen. Wie machen Sie das?

R e Aol e



Frage 3. Grammatik
A) Ergiinzen Sie das richtige Verb! (nur 4)
(sprechen, fragen, einschlafen, messen, fahren, einkaufen, machen)

Martha ist Krankenschwester. Sie Fieber

Die Lehrerin den Schuler

Meine Mutter und ich jeden Tag im Supermarkt
Katherina und Roland, ihr nach Kolkata ?
Peter, du bitte lauter ?

NhLN -~

B) Ergiinzen Sie die richtigen Artikel! (nur 4)

Appartment ist grof3 und hell.
Zu Hause habe ich Schreibtisch.
Herr Walder geht durch Wald spazieren.
Auf dem Deck gibt es auch Sauna.
Maidchen sprechen tiber den Mann.
rginzen Sie die Personalpronomen! (nur 4)
Ich mochte eine Uhr kaufen. Wie findest du da?
Lieber Karin und Karl, woher seid ?
Der Lehrer kommt hierher. Frag bitte
Wir essen einen Kuchen. ist sehr suB
Das Midchen heif3t Marit. braucht einen Kuli.
rganzen Sie die Possessivpronomen! (nur 4)
Danke Schon Frau Miiller. Eltern geht es gut.
Das ist meine Lehrerin. Familie wohnt in Pune.
Haus ist sehr klein. Wir sind aber zufrieden.
Morgen habe ich frei. Ich besuche Mann morgen.
Hallo Jan und Jenny, Biiro ist sehr modern.
rginzen Sie die Modalverben! (nur 4)
Er sehr gut Tennis spielen.
Sie sind im Tempel. Sie keine Schuhe tragen.
Du Eis essen! Gehen wir dann.
Morgen ist die Prifung. Wir fleiBig lernen.
Hast du Husten? Du heiles Wasser trinken.
lden Sie das Perfekt! (nur 4)
Mit 18 zieht Atul in das neue Haus um.
Den Sessel finden wir gut.
Er hat heute Geburtstag. Ich rufe ihn an.
Der Wecker klingelt jeden Tag um 5.00 Uhr.
Wo liegt das Buch?
rginzen Sie die richtigen Pripositionen! (nur 5)
Das Auto fahrt den Wald.
Hause darf ich keine Schuhe tragen.
Ich wohne 1990 in Mumbai.
der Tafel sind viele Worter.
Nach der Heirat mochte sie mit ihrem Mann Frankreich fahren.
der Bundesrepublik Deutschland gibt es 16 Bundeslinder.

0

D)
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H) Bilden Sie Fragen! (nur 4) (04)
1. Nein, sie hat grof3e Augen.
2. Paula geht mit ihrem Freund ins Kino.
3. Ich rufe meine GroBeltern an.
4. Der Fernseher steht im Schlafzimmer.
5. Ich wiinsche ihm alles Gute!
I) Bilden Sie Siitze! (nur 4) (04)
gut, das, sehr, sein, Schwimmbad
malen, Hans Baumer, gern, und, surfen
sie, die, kochen, fiir, miissen, Giste
mein, heilen, Mark, Mann
konnen, im, bis, Gasthof Niehof, essen, man, 22 Uhr
)] Verbmden Sie die Sitze mit richtigen Konjunktionen! (Benutzen Sie eine Konjunktion nur
EINMAL ) (Nur 3) (03)
1. Er hat ein Haus. Er hat keinen Garten.
2. Maochtest du Eis essen? Mochtest du Reis essen?
3. Sie liegt im Bett. Sie hat Fieber.
4. Ich kann Englisch. Ich kann Deutsch.

e

Frage 4. [15]

(A) Lesen Sie den folgenden Text und beantworten Sie die Fragen! (08)
Jochen Pensler, 21, studiert in Leipzig Biologie. Sein Zimmer ist ein Zoo. Zurzeit hat er 6 Hunde, 26
Papageien, 14 Katzen und 1 Krokodil. Aber er hat kein Telefon und kein Radio. Einen Fernseher hat
er auch nicht. Ich hore keine Musik und ich brauche keine Unterhaltung. Nur Biicher brauche ich
unbedingt und meine Tiere. Tiere sind mein Hobby und sie kosten viel Zeit.

Bernd Klose, 42, lebt in Freiburg. Er ist Reiseflihrer von Beruf. Deshalb ist er selten zu Hause. Seine
Wohnung hat nur ein Zimmer. Es gibt eine Matratze und einen Schreibtisch. Mobel findet Bernd nicht
wichtig. ,,Ich brauche drei Dinge: den Computer, das Motorrad und das Mobiltelefon.*

Natascha Schmitt ist Krankenschwester von Beruf. Sie ist 32 Jahre alt, geschieden, woht in Stade und
arbeitet in Hamburg. Sie hat eigenen Autowekstatt. Natascha Schmitt liebt Autos. Problem mit dem
Auto? - Kein Problem! Sie kann in 27 Sekunden das Problem l6sen. Das ist Weltrekord!

i.  Beantworten Sie die folgenden Fragen! (03)
1. Was sind Jochens Hobbys? '
2. Warum gibt es wenige Sachen in Bernds Zimmer?
3. Was ist der Familienstand von Natascha?

ii. Finden Sie das richtige Wort aus dem Text! (04)
1. Hund, Katze, Maus sind
2. Jemand, der bei der Reise Information gibt
3. Verheiratet x

4. Ineinem repariert man Autos.
iii. Geben Sie einen passenden Titel zum Text! ‘ (01)
(B) Schreiben Sie iiber eines der folgenden Themen! 07)

1. Meine Geschwister
2. Eine Reise

3. Meine Schule

4. Meine Stadt

L
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Total No. of Questions : 4] SEAT No. :

P129 [Total No. of Pages : 2
[4801] - 107
FY. B.A
URDU (General Paper - 1)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

A. Bang-e-Dara B. Mazameen-e-Pitras C. Waardat

-ungUaUl/rV“ (’Zoy,?
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Total No. of Questions : 5] SEAT No. :

P130 [Total No. of Pages : 3

[4801] - 109

FY. B.A.
FRENCH (BEGINNERS)
Text : Apprenons le francais (Part- 1, 2)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q1. Répondez en francais. (5 au choix) [10]

1) Nommez deux choses dans la cuisine

2) Nommez les quatre saisons de I’année.

3) Combien d’étudiants y a-t-il dans votre classe ?

4) Quelle est votre nationalité ?

5) Nommez une féte frangaise et une féte indienne pendant la saison de I’hiver.
6) Nommez les couleurs du drapeau frangais.

7) Nommez deux vétements d’homme

Q2. Compréhension. Lisez le passage et répondez aux questions
suivantes. [10]

Aujourd’hui, ¢’est vendredi. Demain, c¢’est le week-end et je suis trés heureuse.
Demain matin, toute la famille va a la plage et le soir on va au cinéma. Apres
cela, on va diner dans un restaurant chinois. J’invite mon amie Nicole qui est
Frangaise. C’est son anniversaire et donc je vais acheter un cadeau pour
elle. Elle aime beaucoup les vétements et je vais acheter une robe avec une
écharpe et du chocolat.

1) Dites vrai ou faux
a) Samedi, la famille va ala plage.
b) L’amie est chinoise.
¢) C’est I’anniversaire de Nicole.
2) Donnez le contraire (opposite) : aimer
3) Complétez avec les mots du texte.
a) Elle __ beaucoup la musique.
b) Jevais  les fruits dans le marché.
c) Les deux jours du week-end sont et
4) Nommez deux vétements de femme.

Q3 ) Grammaire
A) Conjuguez les verbes: [10]
1) 1l (faire) son devoir.
2) Tu (choisir) des gateaux.
3) Marie, elle ne (marcher) pas tres vite.

PTO.



4) IIs (aller) au cinéma ce soir.

5) Vous (écnire) une lettre a vos amis.

6) Pierre ne (comprendre) pas 1’anglais.
7) Nous (visiter) nos parents.

8) Elle (acheter) un cadeau pour son amie.
9) lIs (attendre) I’autobus.

10) Sophie (avoir) un cours de frangais.

B) Mettez ’article contracté. (2)
1) C’estle livre Paul
2) Nous donnons nos cahiers professeur.

C) Récnivez les phrases avec le contraire des mots soulignés. (2)

1) Le cinéma est loin de 1’école.
2) le stylo est sous la chaise.

D) Mettez au négatif : 2)
1) J ai une nouvelle maison. ‘
2) Ce sont des étudiants intelligents.

E) Mettez au plurnel : 2)
1) JYécris avec mon nouveau stylo.
2) L’étudiant parle frangais.

F) Mettez au féminin. 2)
1) le danseur anglais est grand.
2) Mon oncle est italien.

G) Mettez un adjectif possessif convenable : )
1) Ils parlent a professeurs. -
2) Vous portez nouvelles chemises?

H) Mettez les phrases en ordre. (2)

1) a/va/l’ /école/elle
2)le / frangais / ¢’ /texte / est / de

I) Complétez : 2)
1) Janvier est le mois de ’an.
2) Mercredi est le jour de la semaine.

J) Trouvez l'intrus. 2)

1. sur, sous, stire, de, pour.
2.1l, on, vous, elle, nous
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K) Récrivez selon les indications : 7)
1) Les cérises dans le panier sont ---- (rouge, rouges, blancs) (choisissez

un adjectif)

2) Véronique va _____ banque. ( au, a la, aux, a I’ (mettez I’article
contracté)
3) 1 coupe les cheveux. Qui est-ce ? 1 est____ (chef/ coiffeur/cuisinier)
4) Sarah habite en Espagne. Elle est (nationalité)
5) Nous mangeons notre repas dans ____ (la cuisine / le salon / la salle a manger)
6) sépare la France de I’ Angleterre. (La mer Méditerranée / La Manche
/ La Seine)
7) Le 25 décembre est la féte de )
L) Reliez les colonnes. o)
1. Je porte un chandail quand a) Il fait chaud
2. Je mange la glace quand b) 1l fait du vent
3. Les feuilles tombent quand ¢) Il pleut
4. Les oiseaux chantent quand d) 1l fait beau

5. Je prends un parapluie quand e) Il fait froid

Q4) Traduisez en anglais. (10)
Elle s’appelle Sophia. Une Italienne, elle habite a

Rome. Elle a 17 ans. Elle étudie 3 langues- I’italien, le frangais et I’espagnol.
Elle n’aime pas I’anglais, c’est trés difficile. Jolie et sympathique, elle a un
ami, Paul. Paul est ingénieur, il travaille. Lui, il aime la musique, le sport

et aussi le théatre. Le weekend, tous les deux vont a la discotheque pour
danser. Au mois de décembre, pour Noel, elle va a la plage avec Paul.

Q5) Ecnivez une composition sur (10)
Mes amis QU

Mon Ecole QU

Une visite au grand magasin.

363838
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Total No. of Questions : 5] SEAT No. :

P131 [Total No. of Pages : 7
[4801] - 111
F.Y. B.A.
HINDI
G-1: & 9=
(2008 Ue)
aas - 3 @) [ qortes : 80
qreIgEad — i) TETERT:
ii) @eAFHIGH:
e .~ 1) @t gy sifFard § 1
2) IRt Sk for@ i gy & gt F |
gy 1) a1) frafefaa arfirfues veel o @ fomedl = m & @ wata Tl [4]
1) Action i1) Casual
1) Expert 1v) Memorandum
v) Project vi) Store
) FafaRaa & & fordl o1 visggrat o1 atef aTeR SRt TR | T AR |
[4]
i)  oTUem - 3IueM i) 3 - 3}@W
111) HE - KA 1v) THg - UEIg
#) FrafaRaa @ @ fel o v st &t A a1 & SI7ER aArrt forfu
T feRau - [4]
i 27 iv) 32.4
i) 70% v) 9x3=27
m) 25+20=45 Vi) l

3
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3)

¥ 2) A)

97 3) )

Frafafaa 4 @ f = v w w@gw (awEige) dar ik | [4]

i) orfum / erfuan swETer, SHAT HETaETed, gut, ¥ &t st ug 3g
TR FIsTa & aTTelteh W Tog F9R WAt / et 2 |

i) gt witen wewm framg fagmam & snelie § wag T9R Ft 2

FafeTiaa & & foRelt U Ui ol Teael IRt SHeRT AT qaR shitte | [4]
i) Tegcd Jeh T AT A Teaer T0 A hl U=t o1 AT dOR e |
i) YT 9T % foTU eTReruT ¥ STEEA I Ueuel TR SHeRT AT dOR il |

FrafeRaa sraawon # @ foreft v eraawur f wEey =ren fifvu | [5]

) “oreHt | SHTET TEWE AR gEN TE 8 | 98 ugT-foeren g weh g,
T Bl Tohell ¢, AHFER TR E |7

ii) “RET SFRET TR B | AE HereR | T h HRTReft Tt gelt o et
%l”

FrafeRaa sraawon # 9 foreft v eraawur f wEey =ren fitsu | [5]

i) “‘ag wrei-shrel Ud
SEH HT AT
# gh-zh - «ft
o TE A " |
ii) ‘g 7E wig 6 o Ut & AW W,

IR FB G AT A A, ABW-H BIAT AT E |

FrafaRaa o o forelt wer ufeae =t we fage ar-aEa 6t | [5]

i)  Toreft So1 sh FERfa Bt WA o foTu =gt o afees o1 o@n eremem e
AT ¢ | Ariec foreft aor e wrfa o ferrm wmr forg 2 | wifizew @ 3@
AT o YTHeh faerRl, AT |16, UfdgTiieh TeATeish T A=
ufkfeafaat 1 gfafera et SJTaT 8 | WA |@Ehid o Jol STTUR AR
AT o e UI-TA &, Teh forami @ wra 6 st uewhat &1 7
BT 2 | gUR 991 Y argdt fafauar wredt arfees & w9 8 wgq areft
oo oiR wERfc 6t Twat it Tk ot B | e Y ST Uk B, W g
3 WTaTed, ®Ui e uiferfast # gun wmwe STt 7 |
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797 4) )

ii) oms w1 g foawm @ gn B | fawm veg 3o vafera @ wen @ fR
FIYRUT: T 39 I1eg okl ATHUTT AT GRT UTH 37 AL Thetaredl st
eI g N Hifres giaemadt o &9 § s <t 2 | Wehe, e, Sefifam,
Threer, Terferear gomeft # srmekTiies T@m, aTaTRicd WeH, WetsR
anify Tt gt it & fomm WA steran 3 awgedt % forg rferm =
W A faam srgen Sl stewma @wE oAt Sfed T8 2 | foww
AT Y g wHEg I A 9 viee AW o etravaes aedl hl TR
Tohd a3 | TR A aread 3@ faww axg @ anwft @ @ o e
HETIT & HeTEaEy g0 UTH AT T1Ea 3 | THelg vTeg ITYeh 7 hi UTH

A & FIUA hY IR Tehed AT ¢ |
FrafeRaa gerer ® | foedt uter gerert o1 gt § g Ak |
1)  3ATRTIT — UTATA Teh hiAT
i) eifam ufgat fman
iii) <RSI WEAT
iv) e ® e
V) oIt ® T g
vi) -k O T
vii) =get T g e

FrafeaRae & @ foedl = avat & s forfam |

1)  ‘SEA &gt A kg o ek <Al EreieRar Tag hifu |
i) foaem = afa-feeo fifu |

iii) wgen g AT feETE 3 W orEe i Fn uiaear g8 ?
iv) TR WS Uehichl H U&dd THEAT st 3704 vreal | foifan |
V) 3T AT Sl TS WA ol whed 2 |
fFrafeafae § @ fedl = ot & s fofen |

i) T UG % WIEAH B KT hl SHITET HW AT F ?

i) ‘"rg’ whfamT T v TE iU |

iii) ohfr Sl TA—TF ohT TG Teh AT oRTAT & ?

iv) ‘urgiafer’ shiaear § Sea =g w W il |

V) ohid U9 HTEE o AR UTHT Sl aEdt g 7
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w77 5) Frforfion & foret o forwm e Freisr forfae - [10]
i) Tt ew
i) weTge ey R g
i) W= A

363638
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Total No. of Questions : 5]

P131 [4801] - 111
F.Y. B.A.
HINDI
G-1: &S =
‘Qﬁm 2 (Functional Hindi)
(2008 T2A)

aa : 3 92 [ qories : 80
gEare .~ 1) @4t gy sifdard § /
2) T & FE AR o7 37k TvT & gurian F |

y7 1) 1) TfeaRaa sl atiRenfus wegt § & gl o118 vieai o fedt waia foifam -

[8]
1)  Accountant i1) Acting
i) Cheque iv) Concession
v) Credit vi) Deficit
vii) Goods viii) Standard
ix) Registrar x) Strong room
7) fafaRen oot 4 & 5 o2 Tl & OF® 9d-4l % UR W Ig
shif [6]

i) A = s fe
i) R AT TR ¥ |
iii) oA TRl Ter T |
iv) # A0 W o g |

V) o W ¥ Fer E |

vi) <l Rl GTE ST o |
vii) TN W @ |

viii) SifamTem =gt W =i |

5



%) feferien ® & fohdl o iU siishet e fergdi i 7 eh a1 & JFTAR
vreai # forfam - [6]
i 48 i) 61
.9 ) 399
1i1) 0 1v) 0
v) 42.7 vi) 10+ 12 =22
vil) 49 — 15 =34 viil) 18 + 3 =6
mZ)ﬁw%ﬁaﬁua‘iﬁﬁﬁﬂ?ajuﬁéamﬁanzﬁﬁq: [10]

i)

ii)

iif)

1v)

w97 3) )

TRV / wgh =TT, AHETR, T § SO TRV / T 39 Y O 9E
frag 3 Femor o a9ar / Aot

WRY / AEAT FeAehvlt, fagt & Uaierh, S oT® aeier, meht ant, garg & B
arforepl’ ug ¥ emmaed ud forean / ot 2 |

Afeq / |HET 9t RS S, SO H U WIS WRY 6 U, &Y. T H
TMesHsd UM 3g SAfHed o Toraar / foredt 7 |

ST / AYUTH TTOIST UG, 3TTaTE | TR e o wareea stferenidt st et gem
o foru oreRTaet u= forman / ot 2

Freafafaa ufede =1 tw-fagE wedt # ar-orfem s 38 sfea sfides i

[6]

Y HTATaTg <l T WIAT0 SR 8 2 WA H 3eg T, THAT 3R S

T MYk T WRATT SATEAT he Tohd & | A Yk gafere & o Ihwei

ITATadY o Afeleh TR A 3 ATIATedl | 74T dea WX f3a @ | 39emt ®9 WRA

ZAfAU g T g Toh WA # Taaerat @t o9l shael T ides FarefiAaT it iy

&t afee Rt 1 St gfeTa T o1 SEUR 9T o HiaR WIHe qedl hl wHIy
qAAT A qZA ©I AT WY 3BT TRIS H AT AT |

ﬁm‘%ﬁ%%ﬁﬁﬁ%ﬁg%@m%ﬁ%@nﬁﬁq: [6]
) AT ad g AT & o W

i) T aw T T eman |
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797 4) 1) Tafeiea & @ ffdi & fawat w oo & T @ it [6]

i) ywureafa (Wamser) i) ==
iii) @mEm iv) sfta
7) TrafaReas st staan wdt uftese @ & # sigag fifsw [6]

Life greatest setbacks reveal life's biggest opportunities. As the

ancient thinker Euripides noted, “There is in the worst of fortune the
best chances for a happy change.” If you have suffered more than
your fair share of difficulties in life, perhaps you are being prepared
to serve some greater purpose that will require you to be equipped
through your trisla. Use these life lessons to fuel your future growth.
And understand that if you have faild more than others, there is very
good chance you are living more Completely than others.

HAAT

ATTTAA TSI WSt NSgTe & Tt Hidt weft gyfad. wrei=
foemEa ghfuse wumm, “‘gqUiET T =TT 9q@ gSuETEt 3A9 st
A’ R FHEAT HaATa qHSAT AR AUt UTTE T sTsere Tk sre=ft
TrE HRTEAT SO o) g 31898 UR Sl T fHesteiesn shivieards
THETFIA Ush W €49 H1ed HUATETEt gral aaR g adl. Siaamad g o2
Tt wiersaTea fehTaTe U U IO, IR gRE gE-AT UeT W STyt
A AFATA W FTH T hy TR GEAT YT A TRYUT A ot
JIRIAT TR,

gy7 5) 1) TrafeiRea ogmd et # | foedl 2t & s fafau - [10]
i) e B % fafaa sdest = afem e |
i) WRa R ga fuifa o d@eeft fFemt w= we fifs |
iil) WA EER % THE WIETHl TR Th19T STfeAu |
iv) TSt HAfeRrt o shdea T |
¥) fFeafaRaa fawa o @ Rl om w fewfiret fafe . [16]
i) e e % ffay v
i) W Tt w1 eref qen g
iii) 3rgaTE & THR
iv) fagmom « uge
V) UA-AEH % TR
vi) wheudt farar w6 e

63
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Total No. of Questions : 4]

SEAT No. :
P132 [Total No. of Pages : 3
[4801] - 112
F.Y. B.A.
PERSIAN

Text : QAND-E-FARSI
(2008 Pattern) (General Paper - I)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right side indicate full marks.

Q1) Explain with giving examples. (Any TEN) : [20]
. ?-5’/‘ -2 (}JJ /&w’ -
e - o= - &

Gl - 8 A 7
6\;" - 1o Sl - 9
(../’/'/ad//‘y"" - 12 ,.JLJ'LLCJ;},{“ -”
K gt 13
02) Explain in details. (Any Two) : [10]
o/ga,; (2) SN D)
Ol—t, (% L ca

PTO.



03) a)

b)

04) a)

[4801] - 112

Reproduce any one story : [10]
/ 3 o
/AL(’J"&—/ (2 ' v/)/)u;z.é (1)
~ .
A M Lﬁ (3)
Write short notes on any one : [10]

Ll s (2 sl ondle
Latet ca E)) = ol (3

Explain in Persian or translate and explain in English, Urdu or marathi
the following couplets. (Any Five) : [10]

St st Ole L -
““‘“’}/ GJ-O' ﬂ)i—-uqu-J
wc}’héﬁ/,@’%‘f -2
L——ww(!‘)/odb,u/ , T
,).),J/U%*OLUT_///’ -3
))//’uz,,.,,z_ffé J> rc‘
U}/N o ¥ - 4
Uy oL o e
)LLJ,wu_—wh_w Lulle, _ &
f:‘-u‘/w onw,f,u/J
U"I)Q/J/[‘V/)J/o(s) -l
JUL‘W)U"/’MJJ}\-M

)/// U)/a)f"’// -7
)///] U)/ U"‘Jj
2



b) Translate the passage in English, Urdu or Marathi (Any Two) : [12]

L:“:‘;;/i)/ ‘(“*L:) ,L, —))f,:»-:')if/cﬂ:’j)/yé_ﬁ’ﬂ/) (1)
Bl o) Saldide e SN2 T 51 G255
LU s o) ) b S O 55
U2s) Slie 5 pulped - ST e T 555 2 s
Gl bt ) )bj’/:') d)/f;u}-‘)///‘:“‘*-#.";/

VI SYICRES TP INTE AP T o

e - c_.)j,'} ulbe) 554 j&v’.‘,O"‘:? 0'5«-- rfﬁ}fo;/;’f €2)

.JU’)/\LGI = e > _@ﬂ/{—ﬂ)/!/ﬁ/ﬁ_fm//}
DS o e Gl oL
/‘/‘/U’/)ﬁ/-//r/}j:‘ﬁ"xi)/ J/“/‘:‘{}Q‘bﬁ)f}/ﬁ;

L B e A R

ﬁf’- )/J/,.'Z.:J‘}))j;f S,Lal ) cr_:if)/ 24, L, ,0 ! %'JJ/_) 3

[l Lo m X 7 i U rz;‘f/ww LIRSSV

S) Sl ot p 3 AT S e el 2
/--é&ff/e’:f oD ke s Sy e n s Jb 1T G

“ bl o o ~
s )oblg Sep Sl UL s 2 Y.

c) Translate the unseen English passage in Persian, Urdu or Marathi : [8]

It is better not to go seeking for a rich man's favour than to bear the
insults of the man at the gate, it is better not to eat meat than to endure
the ugly demands of the butcher for payment.

36383
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Total No. of Questions : 4] SEAT No. :

P133 [Total No. of Pages : 3
[4801] - 113

F.Y. B.A.

SANSKRIT (H¥hd)
G - 1: Surabharati (TTHTAT)

(2008 Pattern)

de : 3 arql [T 79T : 60
AT .~ 1) @ gv7 sifaare.
All questions are compulsory.
2) ITAIHSIT IF QU JoT FIAATA.
Figures to the right indicate full marks.

g.1) ‘e sufur ‘@’ faummedter Ueeh! Rt Sgiat BIdia STt SUStia M . [20]

Translate each two from 'A' and 'B' sections into Marathi or English.

‘ar’ fawmr /Section 'A'

i) fagues: - Torma: | ATAfaeRt agcTEtee o FIAaETEageEgauE aTarear
AR gATHEa: |

Tl - wE wEY |

TYRAT WYfaeht 9ol o gt |
FRIETHRTATEEAT TaeTgaTaat THd ||
TAE, AT FETAGHRAE T &1 |

ii) orerar ArferEy=ad -
ThRATTY FERUT FiedT 10T T |
AT a8 Wi JeamareaTg ||
Y dt qEmaty T8 e e fogedt sase ageiTareg: 9
TS gEAT gXa: AU A |

PT.O



i) YAYTAYAYS o1 TAUE WIS QI Hegaw-+ ar Have | YgehushyT
FHAVATER TANAHATR TTH FhIvT—GIIsh v R arel e |
Ty e urTencieitg ey e sy |

‘@’ fawmr /Section 'B

i) g Tathe wdas
i aftesate shfeawrerdem |
sremegET fafgas wrssaur
AT ST ISR ||

i) T gfdramga arta fFem:
ThedT THedTvit Aaeenita: gied: |
U AT UvETgal afqgATeaE A
T wgEmIatatayg e 1|

iii) g Gragel Magesh giowe: e |
g Al g Ufaeetd e |
Ta g aqurEn fogm sernfor: |
AR Aot saTgaH ||

g2) ‘3 emfor ‘q’ faumTdier Tedeht ShIvreITd UehTel Tdes] TaEteRtur . [10]

Explain with reference to context any one from each section, section 'A’
and 'B'.

‘ar’ fawm /Section 'A'
i) CTeUTaEll TaEa® 39 Heheiayarea T |
ii) ereueRiyn 7 T UREHUEHE T |

‘@’ fawmr /Section 'B'

i) sgeh faygn = fifdagidasd |
ii) eI SAit W g AR |
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7.3) ‘ot efor ‘@’ faumTer TR SIS ThT Ty AfeER I g, [20]

Write an essay type answer to any one from each section, 'A" and 'B'.

‘ar’ fawmr /Section 'A'

i) ‘oduvuieg ar uter foega foeem .

Write a detailed note on the lesson ‘waeuRug’
i) WA enfor aHacea FreATder WA TIY .
Explain a dialogue between #3:ft and aTsaea.
‘@’ fawmr /Section 'B
) SATiaEEEE: 91 ugaTe faaee EUEun .

Critically appreciate a poem SATHAIEATE: .

i) ‘UTUEETTERH AT WHETE aee Y .
Explain philosophy in the ‘uTvgtsmmes®a’ .

7.4) geter 3amt wet fehar gustia sgatfea . [10]

Translate the following passage into Marathi or English.

AIATIYTA, e HITIEYGIIRTS HETHUTET: TSThe: | o ThIE
AW HY: Afdaafd T | T 9 a6 TR Helraehiad@t % TRt FHgareea
frehm geAeraTaemTEY fT faee | q9: TReEE | Wikh: - o, s
THWRTE: AT | 9g Werdg WAl garaqaqediy SwAT | Sthed, dyaaard
ATGETA MRS M =rvi gt et o 7 yeafefa o waw | afem v aifafer:
Wmﬁjﬁlwmwnﬂ% I”Wﬁmﬁﬁ | |:
atfu aift werfean @9 @8 fR Mgy e | e e qt aemsit
SEEETeIE! fafauverigaT we @ ged fawea: |

FHEH

[4801] - 113 3



Total No. of Questions : 4+4] SEAT No. :

P134 [Total No. of Pages : 3
[4801] - 114

F.Y. B.A.
G - I : ARDHAMAGADHI (Prakrit)

UTehd TI—Uel A shHTeh — 5

(2008 Pattern)
de : 3 amE] [T 7T : 80
1) Translate into English or Marathi any two of the following : [12]
g any two

i) el UWTL UHUEER |l IAuUiient | WEUN YiEwen | AUl whigelt Heurat | Twgum
gt ‘S e @ 2w | @ worg ““Rafas w7 weon e’ T wfore
sra afirm Rifasarg) “GifE wrafé aeomronton 7 wfedfy, @1 gavor-u
TR | gA {4 waur-sror-argung 9 wieesta, ot wges gty | ghr f@
Ru-wamr ufrumsast 7 @E, dwd wmw | v & gi-agor-gwmr-
AUTTUTTETE —gTuT—fafirg - W ar s ieTToT O aeerl, A1 S SifSHERE a1 aenh |

ii) TaTe T @S dfeamaEm T el T Huifa | wETEu-wgETen i waorest
RIS erutor Rrurewagl | |t fa sravomm Arress | ffod Taurecan - ‘<o
W ot feuni o 39 feourath ff sootor’ fa et gogeeatfeuaT | o
TERgU=aUe @ s fquores - ‘vag g1 qau g wErReewg fquut gt
e fr 2 S e e | A e - e
TS ST, A T ASH YUTAVT AT |

iii) Sefte Wit - ‘93 wd, a1 e e swew srwe’ | rgon Wit - ‘gies’ | gRfaed
TR Wigd gewR fa | ufiggt sadan | gfaet sw-gditE | weedtt wive -
fenfufiron zfRrdor ? wd <ra yesg Tertea Gewer ? fa | g1 =Ry | Wit =1 vior
- ‘W0 - wETfRYE 7 A W A fa F annty @ | dud g giken R

PT.O



02) Give reference to the context (any two) :
Ty TIHRT AL (RIUEE )
i) ZE-W-vu fass weamor - T |
i) foremoR iR ifeg o wwTRon ARG |
Il 9 GieRE 9 qaurel farEiget |
iil) “srowrew, ARy # gt waww gew@R - g |

03) Give subject-matter of the story. ‘farssm fafzon w3 |
OR / fear
How did frgfuret know the secret of the king from fagus ?
Frgfrea T Ifua fagueTeag w8 S Uae ?

04) Give short notes (any one) :

dar =T, (SuTad ueR)
1) dwed
i) sfrageafzvsh
g
Q1) Translate into English or Marathi (any two) :
TSt feham SUSia WTTaR o, (SHIvTagt 9i9)

i) i fa qusf ereEar @ fa worg =i |
“FEE - WS- g ometE’’ T
q |8 gui-gl we wafesrEn wg fa g |
AT TH TAREH TR ARG TF ||
“<ierg wferaent Fwer’’ [ “w v=en’’ f @t wurg |
TaAT WU TET-HRUT UF wErarw’ ||

[4801] - 114 2

[8]

[16]

[8]

[8]



i) wa witten fa worg, “‘wma AEfiw A wR-3S |
fafear ama wo fa g 7t wewean’” qett afE 1
FI-FE-HWOITE wfvrent wn T T T |
TIENTT AT "ivreat, ‘‘d=, iU ||
gafaen TSN 3E Wl da-fue—gNd |
Mgy towyg I Hufaaimr’’ e @ wfr 1)

i) wEg-ug - gl qfe TeasETERE |
HI-HIZUE - Atz afed Aegt av-uaut ||
W - WO U S0 WUHTE dfg |
q - g9 - geteeaHed 7 W g fafas ||
gl 9 3fZen § 9uryg ANur W-ugd A |
M WSUHET TR0 Hegd — S ||

02) Give reference to the context (any two) : [8]
ey TIFeRTur T, (HRIUTAE )
i) e Wi A Efe, gieon fegt g T 3o we |
i) “‘de-Fger gr-wea‘wem @ 9 ||
iii) fessar fa @ soifa 3=y FHefon = 1|

03) Give detailed note on temporal worldly substences with the help of

‘T gaTuraERE . [16]
HrETe uqaie fUTHIE “AgaTawRan =T TR forane v .
OR / feran
Narrate the story of ‘==,
“Terameft e’ wwm.
04) Give short note (any one). [4]

JIEHITA 4T =T, (SHIUTIAE Teh)

1)  Nature of a woman.

EeauTa
i) T

g A

[4801] - 114 3



Total No. of Questions : 5] SEAT No. :

P135

[Total No. of Pages :4
[4801] - 115
F.Y. B.A.
PALI
G-1:PALIKUSUMANJALI
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 60

Q1) Translate into English or Marathi. (Any Two) [12]
TUSH Shie ASIa WIHTR 0. (SRIUTAE! 219)

)

““foreet g, Torerarar, Freerforen et shawn fowat » s et afes Jera,
wuHd et afg emEw, I @ ue el ud wgd uiegeaguer e
e et - 3w, ferea, fowe Heforen argan | wawee wmen sl
e 3t et -

RTHTEERUT ST, TS SAfdehet |

HeaagRanel, $H ATy Heared ||

‘| 3 wred! fheRg, Fat aet fam=md |
fsEEiEt g, | 3 Fmtem g )

‘G <1 A WieA(d, SO0} qieEdal |

T TS giied, TEEdl SUferereEd |

“‘Teh{vy = uTuTHg g, SRTafd e 41 gifd |

& ¥ UT0T AT, TgaHiRal aerditd gsist ||

‘3w e fafswean, uiera asmmrateE |

TEERY YREAE, T arusE s

N2 T ST AT AT HBHATT el SR hAeTeRtd SaaH ST
T T AU ; SUEETHe WTa Stfadan U= g | v fad @
1 <adl WA= Uagald — *“STTEedl, W, Aal Wiadl |l ’igesigal STEaH
foredt " | wEdiU @ Sl 3guig -7 Al SEEH @A e Sl
et figa o v siftreren afeswean suwrosts faged |

PT.O.



02) Translate into English or Marathi. (Any Two)
ST Shia TS HISTAR . (SHIVTAE &)

)

" RGN G, YA TRaE |
GAUUTEUUTITE W, GEHhRETSIH Seaa ||
“Teea & geae, 3 watw foes |
edl o A9 hETed, HETgREcTeRanT ||
O G, SR 39 g |

TS FHUHEE, SMfeeme ekt ||
‘oAU iRy, weEE M|
ok & THUTHEE, Te SAHATTUET ||
“Tienfinfid W e,
FEOEH SRI0T 6 4|

mentirie ugaid I,

YV T ST R ||
ST helfor e,
TS e aagua|

ST U IUZE,

Ttog d YeTeTueREEd gt fdll

@ T Hea gRavaed |, Ggie s a8 HaH Ul |
TRt Ao seudrente werl, “Hid AR srgnfd agewm’ |
el AN Sferafal G, IhFEs GHAearaes |
e e FFHauTi, Ty U tfiidegaed Ter ||
feean o fafRaftra uesrerd, armasia afem frgg |
@ qu= TEREsHT, Gl fager et Wi ||
ARG TFETHISH, B W URIH-A o1 |
GAuuTgueT Sifaudi-d o, 7 e s ||

[4801] - 115 2

[12]



03) Explain with reference to context. (Any Four) [16]

HEHTHEd TUSIeRTUT 4. (HIUTHE 9R)

i)

Vi)

feen qufa anfesren, trmmnta =fm |
TG Wt qufd, s aufs s |
N FETHERI, TGl AuTd aeret ||

‘sfafu @t Wt oE ATl TSR gt @i fag s
YREEEHERY el JaHTeeH Jg1 wrar o

‘A e WA e, AT h [eaeEeT Sl |
I T U Az, o g1 Atfaia sheaeur ||

“oftRAl otE, NgHl, SERE TH; 7 Wkl yEud TNy, e
EPCEICIREIRIDICIR s LIl

“ot 7 g 7 wmafa, 7 Kfa 7 s
Al T, IR & 7wt T
“‘ufewn e, AfeE e ; At oo, ot e )

04) Answer any one of the following question. [10]

WTiIeTdeh! Ukl G9! AfaER 3R forat.

)

Critically appreciate brahmanavagga.

SEIuTETr ferfehcden T@Ugon &,

Write an essay on sundarikasutta.

raferg o fawarer afaem ey o,

[4801] - 115 3



Q5) Write a detailed note (Any Two): [10]
WIcTUeh! HIVTCTE! SRIaR e a1 fotgl.
0 IEEgREL
i) <heTUTEE,
fii)  FATeERG.
iv) e

XXXX

[4801] - 115 4



Total No. of Questions : 4] SEAT No. :

P247 [Total No. of Pages : 5
[4801]-116
F.Y. B.A.
ARABIC - (General - I)

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
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Total No. of Questions : 4] SEAT No. :

P136 [Total No. of Pages : 8
[4801] - 117
F.Y. B.A.
ECONOMICS
G - 1: Indian Economy
(2008 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (Any two) [10]
1)  State the Human Development Index.
ii)  State the concept of Gross National Product.
iii) State the objective of planning.

1v) State the agriculture croping pattern in Maharashtra.

02) Answer the following questions in 100 words each. (Any four) [20]
1)  Less Developed Economy
i1)  Per Capita Income
1i1) Special Economic Zone (SEZ)
iv) Information technology
v) Social security

vi) Need of planning

PTO.



03) Answer the following questions in 200-250 words each. (Any three) [30]

1)  Explain the characteristics of Indian Economy.

ii)  Explain the broad feature of population of India.

iii) Explain the importance of industrialization.

iv) State the achievement and failure of 10™ five year plan.

v) Explain the progress of cooperative movement in Maharashtra.

04) Answer the following questions in 500 words each. (Any one) [20]
1)  Explain the sources of agriculture finance in India.

ii)  Explain the role of multinational companies in economic development.

XXXX

[4801]-117 2



Total No. of Questions : 4]

P136

[4801] - 117
F.Y.B.A.

AT
G - 1: VXA S1eieTaen
(2008 ue)
(TSt =UTaR)

dez : 3 ]
ger i~ 1) @F g7 @Sav sravas g,

2) Iwdiedier 3 guf uT FIEara.
3) @ewlarst g 3ut T97 gl agre.

[ gzvr 707 : 80

97 1)

797 2)

WAt JeTel Seareht 50 vrsard I ferel. (hioTadt 2F)
i) el R froie |,

i) T AT SATEATE Teheu-T TR,

iii) PR sRes w.

iv) NI dieh T&AT §I.

WA S9! TRt 100 vrsar 3w fergt. (Rivedt om)
i)  srcufoerdia sreferereen

i) <wErE s

iii) foor snfdfer &=

iv) Wifged qaee

V) T TR

vi) fFaeEr =

[10]

[20]



gy7 3) et gATEt Seaeht 200 d 250 v SR ot (g i) [30]
i) VR sreicaawa= At Tus .
i) YRR ArREEIE Sobeh ATl TUY .
iii) SNSHARTRIUT=N Wgea TUE &,
iv) 10 = et SeRe aeneE |,

V) THERIEAA Hghil Jesdeial Tl Tag .

gg74) @rete agErEn S 500 vrsem forEt. (Shiuardt ueR) [20]
i) WRATA HH om Qs S T .
i) onfefen forenrema SEUEE U=l YiHen I .

XXXX

[4801]-117 4



Total No. of Questions : 4]

P136
[4801] - 117
EF.Y. B.A.
ECONOMICS
G - 1: Agricultural Economics
(2008 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (Any two) [10]
i)  State the scope of Agricultural Economics.
ii) Explain the importance of Agricultural Export.
iii) State the types of Agricultural Labour.

iv) Explain the objectives of World Trade Organization.

02) Write notes in 100 words each. (Any four) [20]
1)  Dairy farming
i1) Green Revolution
ii1)) Green house technique
iv) Agricultural subsidies
v)  Drips Irrigation

vi) E-marketing



03) Answer the following questions in 200-250 words each. (Any three) [30]

1)  State the causes of Famine.

i1) Explain the problems of Agricultural marketing.

iii) Explain the disadvantages of Irrigation’s method.

iv) Explain the nature and scope of Indian Employment Guaranty Scheme.

v) State the definition and Issues of Agricultural price setting.

04) Answer the following questions in 500 words each. (Any one) [20]
1)  Explain the causes of Low productivity of Agricultural in India.

ii) Explain advantages and disadvantages of World Trade Organization
related to Indian Agricultural.

XXXX

[4801]-117 6



Total No. of Questions : 4]

P136

[4801] - 117
F.Y.B.A.

Rl

G - 1: Tt steivmE

(2008 ueH)

(TSt TaTR)

gz : 3 amE]
gedr .~ 1) @ 997 @slan Jreavas g,

2) Iwdimier 3 gui Jor F9ffadrd.

3) @S] o FAA 39 GEE TET.

[ T2 771 : 80

97 1)

97 2)

welier TeAr T 50 vrsa S R (FnE 2F)

i) et reivTrETR SATH |,
i) e P Tga e w.
iii) USRS YRR |,

iv) TRTideh SAUR Goe-el el TE &

SRt 100 vregma feun forn. (ot =)
i) guEEE

i) &la s

iii) F Tg qETH

iv) o e

v) foae Rem

vi) 3 - HmRfen

[10]

[20]



97 3)

g7 4)

@refte agarEt 200 ° 250 vregma 3w gt (SFivrEt 6 )
1)  gewII= HRU TR,

i) et fForuuT Fren TwEE T .

iii) ST UgEd g T .

iv) WRATIA ISHTR gHt Sl TaET AT STt T8 &6,
v) VAt fehua Feriomsh saren snfor wem @,

Wreiel g9 Tedeht 500 vieg| W orgt. (FIuard ues)

i) YRATA el ScUTeehal hHl STEUIT HRUT TS .

i) TITIfes SAUR HEEA=l WRAR I Hedid WEe—dle T8 .

XXXX
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Total No. of Questions : 4] SEAT No. :

P137 [Total No. of Pages : 8
[4801] - 118

F.Y.B.A.
POLITICAL SCIENCE
G - 1: Government & Politics of Maharashtra
(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates :-
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions. (In 50 words each) [10]
1)  Nagpur Pact.
i)  Dalit movement after 1957.
iii) Poverty and Slums of Maharashtra.

iv) Backwardness of Vidarbha.

02) Attempt any four questions. (In 100 words each) [20]
i)  Role of Shivsena in the politics of Maharashtra.
11) Irrigation in Maharashtra.
iii) Political performance of RPI.
1v) Vidhansabha election in 1978.
v) Sanyukt Maharashtra Samiti.

vi) Political performance of PWP.

PTO.



03) Attempt any three questions. (In 250 words each) [30]

1)  Explain the backwardness of Marathwada.

i)  Write an essay on the farmers movement in Maharashtra.

iii) Give an account of Co-operative movement in Maharashtra.
iv) Explain the relationship of Maharashtra state with other states.

v)  Write an importance of Vidhansabha election in 1999.

04) Attempt any one question. (In 500 words each) [20]
1)  Explain the role of Governor of Maharashtra.

ii) Criticise the performance of Congress Party in the politics of
Maharashtra.

XXXX
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Total No. of Questions : 4]

P137
[4801] - 118
F.Y. B.A.
POLITICAL SCIENCE
G - 1: HERIYTE IMEA & TSTeRRUT
(2008 ue)

(AT EUTR)

dez : 3 amq] [ TzuT 7797 - 80
geAr .— 1) @ 997 @islan snavae.

2) Ila@msier s qul T FfEET.

3) @uarst ges A TR TETHl.

yo7 1) Wefieiehl SivTagl 31 U9 |igal. (eeht 50 w1sam) [10]
i) TR R
ii) 1957 7aw=h gfera wras
iii) wERTEE qTg U1 FaETZ
iv) v e

¥p72)  WIeietdehl Sl IR T Higdl. (Sedeht 100 vrsem) [20]
i) WENIEA ASTRRuT e iR
i) R e
iii) STR.Ut.3ma. <N ThE wEE
iv) 1978 <t R frasums
V) T WERy wfet
vi) VIhO TR S



¥97 3) WIeietdehl SIUTE! diH I HIgHl. (Fereht 250 Irsar) [30]
i) TRIGATSATe URTEAYUT T R,
ii) WERIE Jaehdl dedsier (Had foTal.
iii) FERTFIES FEhR Teseresell Wiigd! forgl.
iv) WERE TSATe SR TSaierians el T &l
v) 1999 = faamasn Ragude vge T 4.

g7 4) @ﬁmﬁ%ﬁaﬁm@guﬁﬂ;ﬁw. (500 vr=gma) [20]
i) VRN TSIuTATH! iHeT T8 .

i) UERIETEA TTHRRUMIA SHITH TS SRR Tderun .

XXXX
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Total No. of Questions : 4]
P137

[4801] - 118
F.Y.B.A.
POLITICAL SCIENCE

G - 1: Social and Political Movements in Modern Maharashtra
(2008 Pattern) (Optional)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions. (In 50 words) [10]
1) Davdasi movement.
11) Satyashodhok movement.
1) Labour movement.

1iv) Sanyukta Maharashtra movement.

02) Attempt any four questions. (In 100 words) [20]
1)  Religious reforms movement.
1) Leftist Labour movement.
1i1) Anti-Liquor movement in Maharashtra.
1v) Issues in Bombay
v) Issues in Reform movement.

vi) Unorganised sector worker’s movement.

5



03) Attempt any three questions. (In 250 words) [30]
1)  Explain the contribution of Brahamo Sama;.
i1) Explain the note of Dr. B.R. Ambedkar in Dalit movement.
1i1) Explain the Leadership on Tribal movement.
iv) Write the problem’s of unorganised sector worker’s movement.

v) Explain the Leadership on Tribal movement.

04) Attempt any one question. (In 500 words) [20]
1)  Write an essay on Sanyukta Maharashtra movement.

i1) Discuss the contribution of Mahatma Phule’s social reforms.

XXXX
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Total No. of Questions : 4]

P137
[4801] - 118
F.Y. B.A.

TSIV
G - 1: 3NYFT HERFTAA HHINTE o TSThT TSB!
(2008 Yed) (Optional)

(FET EUTR)

ge : 3 ard) [ Tzor 797 - 80
T o— 1) @d 997 Qisldvl AJEavas Jgd.
2) IwHIwSIT 3k QUi JOT FIfEAT.
g7 1) TTcliedeh! ShivTdgl g 9= digal. (YRt 50 vsem) [10]
i) <Coew Jwa%
i) TAINUE TSaS
ill) ThTHIR TBdd

iv) I AN THAD

Ty72)  EIicuehl vl IR S99 |l (SRt 100 rsgma) [20]
i) e GURUN TS
i) ST WeR T%as
iii) TR Fread! TBAD
iv) Hegen v
V) UEA aeasidiet e

vi) IrEHfd IR e



97 3) TTeliedehl hivTdgE! diF T99 Trgdn. (Tereht 250 vsam) [30]
i) SR AHT SIS IR ST .
i) @i STaTETa SHEwE giotd geaeiiiel Ui forgt.
i) onfeaTE Teaw A ATSHTd T H.
iv) SrHufea R Tesadean aue forg.
V) @R AU geae AISETd T 6.

97 4)  WeAcdehl HIVATE Uk 997 |@gar. (500 vrsem) [20]
i) T TNy TSasi Hay forgt.

ii) U THIHYRE TEU[ WETeHl et Jieat AT ot ol

XXXX
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Total No. of Questions :4] SEAT No. :

P138 [Total No. of Pages : 4
[4801] - 119
F.Y.B.A.
HISTORY
G-1: World After World War I (1918-1992)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate marks.

Q1) Answer the following questions in 50 words each (any two): [10]
1)  State the immediate cause of 1% world war.
i1)  What do you mean by ‘Radical Discrimination’.
i) Explain the “Three Point Programme’ of Lenin.

iv) Write about ‘Pollution’.

Q2) Write short notes in 100 words each (any four): [20]
1)  Significance of ‘Self Determination Principle’.
11) Nelson Mandela
iii)) NATO
iv) New Economic Policy of Lenin
v) Mikhail Gorbachav

vi) Communication Revolution

PTO.



03) Answer the following questions in 250 words each (any three): [30]
1)  State the consequences of Second World War.
i1)  State the Political achivement of United Nation Organization.
i) Write the information about Non-Alignment movement.
iv) Explain the USA foriegn policy after the Second World War.

v) Define Globalization and explain its significance.

Q4) Answer the following questions in 500 words each (any one): [20]
i)  Define ‘Nazism’ why did the Nazism rise in Germany?

i) Explain the achievement of Non-Allignment Movement for the
developing countries of the world.

[4801]-119 2



Total No. of Questions : 4]

P138
[4801] - 119
F.Y.B.A.
HISTORY
G-1: World After World War I (1918-1992)
(2008 Pattern)

(TS EUTR)

3z : 3 @]

e .— 1) @ 997 Qislan AEayas g,
2) ITEIBSIT IHE TIHATR UT FINAATA.

[ 7zor 707 : 80

gp71) @l ggErE IW S50 veeE forgl. (S 2)
i) ufgean AEIGT ARIcieh hIRUT R,
i) avNE WU % ?
iii) wfrren ‘Breh s fvr w0,
iv) ‘wgwon ferwedt forar.

gg72) w100 vegm R foran. (vt wm)
i) TEEHvE T v
ii) ewd agen
iii) = (NATO)
iv) e T enfies swor (NEP)
v) Prame detee
vi) EUNOT Shidl

[10]

[20]



gy7 3) ETele g s 250 e foTgl. (ShIvTagl iq) [30]
i) gE= AEEge aRum |,
ii) EIH Y Hoe-H USThIA HHERN TR,
iii)  srfeTaaTaTd! wesaAe A foran.
iv) gE= ATk ARGl TRl TRTg SiRuT ¥q8 1.
V) SNTioehTeiune STt IR e Hged 9T .

gg74) @rete agErEn S 500 vrsem forEt. (Shiuardt ueR) [20]
i)  FTsfiangren el @A, A At 1 3EATE ST ? IS JUH .

i) T faeREeiier doT=en Hewia feTHdTand! Seasiel ANEH T .

XXXX
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Total No. of Questions :4] SEAT No. :

P139 [Total No. of Pages : 4
[4801] - 120
F.Y.B.A.
ANTHROPOLOGY
G-1 : Introduction to Social and Cultural Anthropology
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer any two of the following in 50 words each: [10]
i)  Explain the concept of ‘Cultural Lag’.
i)  Write the Functions of Kinship.
1i1) Write about the matrilineal system in Adivasis.

1v) Explain the concept - ‘Race and Racism’.

Q2) Write short notes on any four of the following in 100 words each: [20]
1)  Uses of Anthropology
i1) Shaman/Bhagat
ii1)) Concept of Property
iv) Types of Kinship
v) Nuclear Family

vi) Types of Culture

PTO.



03) Answer any three of the following in 250 words each: [30]
1)  Describe the stages of Tribal Economy.
i1) Explain the various theories of Religion.
ii1) Elaborate the nature of Law and Justice among Adivasis.
iv) What is culture? Write in detail the various characteristics of culture.

v) Describe the functions and types of magic among Adivasis.

04) Answer any One of the following in 500 words: [20]
i)  Elaborate the various branches of Anthropology.

ii) Describe the various ways of acquiring mates in Tribal society.

XXXX
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Total No. of Questions : 4]

P139

[4801] - 120
F.Y.B.A.

ST AR, AT — (ANTHROPOLOGY)
G-1 : SIIRTeR SATUT TTEhideh HHATTET! Tiad,

(2008 de)
G-1 : Introduction to Social and Cultural Anthropology
(A EATR)
gez : 3 ard] [ vzoT 707 - 80

goAr o~ 1) T@d T9T SAvIE 3R,

2) IwHlmSieT 3k QUi JoT FIfEAT.

Tv71)

T972)

WICATeTth! THIVTCTE G TP I Tereht 50 vregaaa ferar. [10]
i) ‘ETERide UIATEATE HeheUAT TAE .

ii) emwEEuTER wE for.

iii) eTfaTEinsicr HIgemTh Headgat o migd forar.

iv) ‘a9 SMfuT SyTeereil’ HeheuAT TUse 1.

WeAieTdeh! <RIVl WReR Sedreht 100 vrsqosd g ferat. [20]
i) WHEITET SUH

i1) vmAOT (Shaman)/v Ta

iii) TN HeheuT

iv) SIHEET YRR

v) o ggaugd

vi) HER S



Tp73)  WeAiceTieh! ST i Teareh I ekt 250 warudd forar. [30]
i) onfeawd sreieawds e (sraeen) fave wa.
i) o Scuei fafay fagra e .
iii) snfcarEiveie HEer iU =eHR Ty e .
iv) &Rl U FE ? SERdre fafag Jirs afaer o
v) enfeaminsict SgE wE enfit SRR faorg .

¥74)  WieieTdehl IVl Ueht Ierel I 500 vrsaioea forer. [20]

i) wHavTETen fafee vwan fave .

i) snfear THITde 98 TureATean (SEeRr urd foamgrean ) fafay ugdt v

<hl.

XXXX
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Total No. of Questions : 4]

P140
[4801] - 121
FY. B.A.
GEOGRAPHY (G - 1)
Gg-110 : Physical Geography
(2008 Pattern)
Time : 3 Hours]|

Instructions to the candidates :-

1)  All questions are compulsory.

2)
3)
4)

Figures to the right indicate full marks.
Draw neat diagrams wherever necessary.
Use of map stencil is allowed.

Q1) Answer in 20 words each (Any ten):

Vi)

vii)

State two branches of Physical Geography.
What is sima?

What is parallel of latitude?

What is rock?

State any two types of faulting.

Give any two causes of chemical weathering.

Write any two erosional landforms of sea waves.

viii) What is inversion of temperature?

1X)
X)
X1)

Xii)

Write the types of precipitation.
Write two types of humidity.
What is Airmass?

What is meaning of continental slope?

xiii) Define salinity of ocean water.

SEAT No. :

[Total No. of Pages : 4

[Max. Marks : 80

[20]

PTO.



02) Answer in about 50 words each (any two): [10]
1)  Branches of Physical Geography.
i1) Shape and size of the earth.
iii) Condensation
1v) Tsunami

03) Answer in about 150 words each (any two): [20]
i)  Write a importance of Physical Geography.
ii) Describe the factors affecting horizontal distribution of temperature.
iii) Describe the composition of the atmosphere.

iv) Describe the formation of pressure belts.

Q4) Answer in detail with 300 words each (any two): [30]
i)  Describe the formation and types of igneous rock.
i1) Describe the landforms associated with erosional work of wind.
ii1) Write an account of monsoon winds.

iv) Write in detail methods of water conservation.

[4801]-121 2



Total No. of Questions : 4]

P140

gz - 3 ard]
e i~ 1)

2)
3)
4)
5)

[4801] - 121
F.Y.B.A.

TMA (G - 1)

Gg-110 : TTehides e
(2008 ue)

(TSt TaTR)

[Tepor 7707 : 80
e T @S0 AT ITE.
TR EIcT e Gul JuT FINEATA.
SHTTITH AU GaH HTFHET FHIET.
THTIN N7 AT WA STTE.

gv71)

TR 20 YTsaia IR T (SRR =) [20]

i)
i)
1i1)
1v)
V)
Vi)

Vii)

HTIH1 FEUTS A ?

AT U T ?

WEF TEUTS 1 ?

TERHTTE ShIUTAE! S IaTeeul ST

TR foeRUT=R SHIUTE §F SROT R,

TN A=A WA e Friun SR 39 YRR |,

viii) aroEETE foufaa g wEe

1X)
X)
X1)

Xii)

o THR fora.
AT EH TR fore.
YN TEUS A ?

W 3dR HITAT FgUTATA ?

Xiii) FRRTET IR SREAT &,

3



797 2)

797 3)

T574)

TR 50 Iregia IW foret. (T 3F) [10]
i)  TITehides WTIGTTea TR

ii) Yoo SRR ST ST

iii) ®ifgweH

iv) g

TRl 150 vregia SR oTgl. (ShIvTagt ) [20]
i) STeRfdeh e e foret.

i) amEETen fafest TR feaeumer afomm sRuT= Teek Sui .

iii) aTATERUTEAT T FUM .

iv) AR ugeATeAn MiHwi qui .

TRt 300 viegia ST forgt. (SHRivTadt gF) [30]
i) oifuea wewrl [t a yewrm aui .

i) araTen @A e At g Yarer qui w.

iii) W == g foret.

iv) CTHRUTA Ugdl Gfef auia .

XXXX
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Total No. of Questions :7] SEAT No. :

P141 [Total No. of Pages : 7

[4801] - 122
F.Y.B.A.
MUSIC GENERAL (G - 1)

Vocal Classical Music
(2008 Pattern)

Time : 172 Hours] [Max. Marks :20

Instructions to the candidates :-
1)  Question No. 1 is compulsory.

2) Attempt compulsory any three out of the remaining questions.

Q1) Write notation of ‘Madhya Laya Bandish’ of any one Raag.

1)  Bhairav i1) Kalyan

02) Write the description of any one Raag with Aroh, Avroh and Pakad.

1) Des i1) Bhoop

03) Write the Description and Notation of any one Taal.

1)  Ektal i1) Kerwa

Q4) Write definitions (Any five)

1) Meend 11) Adhar Swara
ii1) Komal swara iv) Alap

v) Taan vi) Laya

vii) Kal viii) Shruti

ix) Khand

[S]

[S]

[S]

[S]

PTO.



05

06

07

Write short notes. (Any two) [5]

1)  Saptak - Purvang - Uttarang 1) Raag Jati

ii1) Chal - Achal Swar iv) Shadja - Pancham Bhav
Write in Detail (Any one) [S]
1) Lok Sangeet i1) Raag Sangeet

ii1)) Positive and negative aspects of Notation

Write an short account of the coutribution to music of the following musicians.

[S]
1)  Pt. V. N. Bhatkhande
11)  Amir Khusro

i) Swami Haridas

XXXX
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Total No. of Questions : 7]

P141

[4801] - 122
F.Y.B.A.

T aH= (G - 1)
WA — A
(2008 Yes)
(TSt =UTaR)

gz : 1 ard] [ vzt 707 : 20
gear .~ 1) 1 TErdic? W7 QT TEH, GaR, TG Jrdshl HoTdgl oh T3

g7 qisgar.

2) Glgen 97 AR 3iTg.

3) SRard TvT v SiGE 3T GATdhl FHIvidg! A7 HG THUT TR
g9 @iEal.

v71)

97 2)

97 3)

g7 4)

W G| T
{YE fehell THeaTut a1 Tehl HIVIETE TehT WA AT afe9l TRfeTdiag &, [5]

@ fohan 9U =1 Ukt RIVTATE! Teht T IS TRt ARIE—STeRIE—Uhs a1 TE
fera. [5]

TehdTcA fehal ShaT o1 Ueh! SHIUTCATE! Uehl ATAT 2Tl —hTel Ugee oi@d &l [5]

WeATIER! SHIVITE urel sarea forar. [5]
i) s ii) SMuR wR

iii) e TR iv) arema

v) a™ vi) &

vii) T viii) ot

ix) @g



g975)  Wiciicidehl ShivTeaTgl 99 ian . [5]

i) ¥E® — ANt — I i) @ AT

iii) = - A TR iv) eSS - UuW W

97 6)  WIeAcTdeh! Shivtergl Ukt farsamer foramme forgn. [5]
i) oW fa
i) e

iii) ¥R @A Ugdid oI
gy77) oEeRad . (I UH) [5]
i) d. foruy IR wraeE
i) SR
iii) waTh glem

XXXX
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Total No. of Questions : 5]

P141

[4801] - 122
F.Y.B.A.

Wi g = (G - 1)
ddcAl
(2008 ueH)

(AT EUTR)

gz : 1% ard] [ Tzr 77 - 20
geAT -~ 1) 9w g9 fEard g,

gv7 1)

797 2)

797 3)

g7 4)

797 5)

2) SHFETE TvT U S IFGT TIAIGh! HIVIAgT AT HE THUT TR
9T T@iEa.

T fehat STaaTer A Ueht ShIVTCITE UehT ATeTT< |01 I Wit fored eTebt—ehtet

oo cRatcoicl [5]

s forgt. (TeRuT ur=) [5]
i) foEs i) g

i) ¥R 1v) &

V) HEn vi) fevmn

vii) Rt viii) 3TeeA

ix) ferem

At =, (TR H) [3]
i) —SEd-gH

i) e fordt

iii) T A

WielieTieh hivTeaTgl Tent feramer forean forar. [3]
i) 99 R TR

i) e Tt a Fewm agd

3. STEHGETH foReRal fohant 3. R g8F @i ATURI VAT Teh! SHAThRIL! SHTaH
== forn. [5]

XXXX



Total No. of Questions : 6]

P141

[4801] - 122
F.Y.B.A.

id 9me (G - 1)
AR
(2008 Ged)

(AU EUTR)

gz : 1% ard] [ Tzor 70T - 20
gear .— 1) 99" 997 9.

97 1)

797 2)

797 3)

g97 4)

2)  SHRErE T97 g S, Jeia TeATdehl HvIAE] @7 JH U TR
97 TSl

T Tohe SHeTur ATIhT HIVIETE Teht TR HETeTd T FeRferTUslg . [5]

el facae fohan <@ TRt FRvTeATE W= IS, Hifgd, I 3TeRig, Uehe

g fora. [5]
TehdTcel fehdll TE0 AT ZTSI—HhTA UgeA ATAeRE ol [5]
e forgr. (usRut uren) [3]
1) < il) dR 99k

i) T TR 1v) g TN

v) W vi) &

vil) @E viil) Ure

ix) waE @R



gy75) & foran. (TR E) [3]
i) eI i) YEREE T

iii) wH® — YaRT — I

gg76) Toeamm fogr. (shiorard ueR) [5]
i) @fia enfor o Aferaehent  1i) 3. e
iii) Qe SRt

XXXX
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Total No. of Questions : 4] SEAT No. :

P142 [Total No. of Pages : 4
[4801] - 123
F.Y.B.A.
PUBLIC ADMINISTRATION
G-1 : Indian Administration
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions 50 words each. (Any Two) [10]
1)  Any four reforms of 1935 Act.
i1) Any five functions of Election Commission.
ii1)) Legislative powers of president.

iv) Objective of National Development Council.

Q2) Write short notes in 100 words each (Any Four): [20]
i)  Functions of Central Secretariate.
i) Functions of Home Ministry.
1) Financial Commission.
iv) Composition of Legislative Council.
v) Role of Block Development Officer in Panchayat Samiti.

vi) Importance of Gram Sabha.

PT.O.



03) Answer the following questions in 250 words each (Any Three): [30]
1)  Explain the structure, powers and functions of Rajya Sabha.
i1)  State the Jurisdiction of Supreme-Court.
ii1)) Explain the functions of zilla parishad.
iv) Legislative relations centre and state.

v) State the functions of district collector.

04) Answer any one question in 500 words : [20]
i)  Explain the powers and functions of Governor.

ii)  State the composition, powers and functions of Lok Sabha.

XXXX
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Total No. of Questions : 4]

P142 [4801] - 123
F.Y.B.A.
PUBLICADMINISTRATION

G-1 : Indian Administration
(2008 Pattern)

(AT EUTR)

3z : 3 @]

o o— 1) & T97 ST HEd.
2) ITHIHSIT I GOl T FIEAT.

[ 7zor 707 : 80

gy7l) @A Ght HIVTETE §F TEATE I Tt 50 g for.

i) 1935 a1 RIS SV TR LR,
ii) fFraeuwEk SR wivTaE uter wE.

i) T W e s

iv) g foeeme uitees sfesa.

gg72)  HIUTCATE TR ofigerra fout forgr. (wed 100 vreera)
i) <higa afEerr w @,
i) v wE.
iii) o e
iv) faum uftwesh @A
V) UHEd At AL e rehte stfeeRraT .
vi) THANR WEged.

[10]

[20]



g7 3) e Ueht HIVIETE A ST ST Teeht 250 veara fotat. [30]
i) ToIEY=N WL, UER 9 i T .
ii) Weea =TT SRR S .
iii) foreen uftee=h %™ T w0
iv) g 30T T3 AT e fomees wEy T,
v) Regieerr=are wr |

g7 4) @rele Okt hIUTeaTEl Ukt g9 SR 500 vrsar forar. [20]
i) TouTeTa SAfeeRR enfut st T .
i) TieRE=l oA, SAfRERR AUt S am.

XXXX
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Total No. of Questions :4] SEAT No. :

P143 [Total No. of Pages : 3
[4801] - 124
F.Y.B.A.
PSYCHOLOGY
G-1 : General Psychology
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q1) Answer the following questions in 50 words each (any two): [10]
i)  Goals of Psychology.
i) Types of neurotransmitters.
1) Rorschach's ink blot test.
iv) Types of short term memory.

Q2) Write short notes in 100 words each (any four): [20]
i)  Types of Psychological Professionals.
11) Autonomous nervous system.
iii) Functions of thyroid gland.
1v) Perceptual constancy.
v)  Misconceptions of personality.
vi) Latent learning.

03) Answer the following questions in 200-250 words each (any three): [30]
1)  Explain the modern perspectives in psychology.
ii) Explain the gestalt principles of Perception.
iii) Describe the interview technique of personality assessment.
iv) Explain the characteristics of classical conditioning.
v) Describe the interference theory of forgetting.

04) Answer any one of the following questions in 500 words : [20]
i)  Define motivation. Explain the types of biological motives.
ii) Define intelligence. Explain the Guilford theory of intelligence.

PTO.



Total No. of Questions : 4]

P143

[4801] - 124
F.Y.B.A.
PSYCHOLOGY

G-1 : General Psychology
(2008 Pattern)

(ST EUTR)

gz - 3 arg]
ger .~ 1) @F g9 Qislan sravas Sgd.

2) IwHlmSieT 3k QUi JoT FIfEAr.
3) orEvEE & BN GEaSE HTHET FHET.
4) Teylard ge A geAaAwT TETe.

[ 7zor 707 : 80

v71)

T572)

WeAtTdeh! SHIVTETE i o=l I Tt 50 vregra fetal.

i) e SR
ii) AR TRR.
iii) ottt S fSuari=h TR,
iv) ofcd WA TR,

WIelieTueht HIvTETE TRiER Teeht 100 visgia o forar.
i) AFEITETE e TER.

i) ToTas T,

iii) haEy Tefi=ht w.

iv) wrages feema.

v) cafchaea fawees A,

vi) YA AT,

[10]

[20]



773)  Ereherieh S @ seEreh e 200 § 250 veaE S . [30]
i) AT Y e T8 .
i) wEEH® TueA= qca feve .
iii) AR AIOATE HAREA qT<l JUH .
iv) it srftmemTh St we w0,
v) fewemen saem frgia we s

97 4)  WreAcTdehl HITETE! Ueht J9re SR 500 vrsara forar. [20]
i) ORUN SAREA 2. AR IUT TR TIY .

i) g sawen . ggmm fovas fewgen fgia fave w0

XXXX
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Total No. of Questions : 4] SEAT No. :

P144 [Total No. of Pages : 4
[4801] - 125

FY. B.A.
GANDHIAN THOUGHT
G-1 : Introduction to Gandhian Thought
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 5-6 sentences or in 50 words each: (Any two) [10]
1)  Explain any one Indian source which inspired to Gandhiji.
ii)  Explain Gandhiji's role as a political leader.
iii) Explain in short the meaning of Truth.

1v) Explain in short Kheda satyagraha.

Q2) Write short notes in 10-15 sentences or in 100 words each: (any two) [20]
1)  Relation between Truth and Ahimsa.
i1) Anasaktiyoga.
i) Status of women.

iv) Basic Education.

PTO.



03) Answer the following in 25-30 sentences or in 200-250 words each:
(any two) [30]

i)  Explain the impact of western sources on Gandhiji.
ii) Explain, Gandhiji as a follower of words and action.
ii1)) Bringout the importance of Ideal Satyagrahi.

iv) Explain fully Gandhiji's Idea of Sarvadharmasamabhava.

Q4) Answer the following in 40-50 sentences or in 500 words each: (Any one) [20]
1)  Explain and fully evaluate Gandhiji's doctrine of means and Ends.

ii) Explain and criticise Gandhiji's Idea of Sarvodaya.

XXXX
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Total No. of Questions : 4]
P144 [4801] - 125
F.Y.B.A.
meht foem
G-1 : e o= new
(2008 Pattern)
(TS TUTaR)

g : 3 ard] [ TzuT 7797 - 80
o o~ 1) & T97 @S0 SEavae 3.
2) SRS I gUl uT FIIATA.

wrl) e T T 5-6 ST stean 50 vieg SW . (Rued aF) [10]
i)  TEfSHT Ydia U= ShIUTAE! Ush WRAR S T8 .
ii) USRI e TgU TSl HeRT T .
iii) T 312t ofIgeRITd T .
iv) e Ganig ATSHITd T .

gg72)  10-15 areEm stean 100 s S forgt. (shoredt gF) [20]
i) @ g wEe.
i) SFTEhIEE,
iii) ferien o=,

iv) e fOrern agd.



gg73) Weid U FRUEE 9 geEEt 25-30 R sHEt 200 § 250 g W
feran. [30]

i) eliiedie aryaTe foamren (J) 99 T .
ii) sl Ireg ofuT ol YTEehd Bid TIE .

iii) 3TEv FCAE Hged T .

iv)  ieficiie aaaranyreT Hehednt afea TS &,

g974) Wil Teht RV Teht U9ATel Aok SR fergt. 40 & 50 visgia stHen 500
yIEE. [20]

i) eSS A -E1 HeheddT Wi AR fad GeamTaE .

i) RSt Taied Hehednt T fowit fafere .

XXXX
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Total No. of Questions : 4] SEAT No. :

P145 [Total No. of Pages : 3
[4801] - 126
F.Y. B.A.
YOGA
G-1: Yogvidya
(2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain any one from the following in 50 words. [S]
1)  Bhaktiyog

ii) Types and benefit of Asana's

Q2) Write short notes (any Two): [10]
1)  Niyama
ii)  Shuddhikriya
ii1) Karmyog

iv) Dnyanyog

03) Answer any two questions from the following in 200 to 250 words. [15]
i)  Explain the patanjalyogsuttra.
i1)  State the types and measures of chittavritti according to patanjali.

1i1) Misconcepts about yoga.

04) Attempt any one question in detail. [10]
i)  Explain the aim's, objective's, scope and limitation's of yoga.

i1) Discuss the daily life and yogsadhana.

PTO.



Total No. of Questions : 4]

P145 [4801] - 126
EY. B.A.
T
G -1 : IRTIEN
(2008 Pattern)
(TS EUTR)
g : 2 ard] [ TguT 7797 - 40
o o~ 1) & T97 @S0 SEavae 3.
2) IweiEler e guf qoT F9Eara.
3) ek g7 SEh TR T,
gg7]) WeAdehl HIVTETE! Ukt 50 ITsaTd TaSiehIuT 2. [5]
i)«
1) 3TEA Tk 9 &N,
yp72)  few . (wiorEr 9) [10]
i) Tem
i) yfghean
iii) omHEm
iv) FHER
gy73)  Ereitciaehl ShivreErgl gF S 200 ° 250 viseE ST @ [15]

i) U JUH .

ii) wed uasen-t fereriie fohedt @ v TR Hiftaet ¢ wre R su™

.
iii) JNTETEEEEE AUEES R0 ?
2



gp74)  ECTieh! SHIVIEATE! Tshl Il Tferr 3T oI [10]
)  IOTET -3 WE e ST 9 WAie T .
i) SFEH e o SRTEEAT == .

XXXX
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Total No. of Questions : 4] SEAT No. :

P146 [Total No. of Pages : 4

[4801] - 127
EY. B.A.
HISTORY OF CIVILIZATION
Maharashtra Culture (Upto 1818 A.D.)
(2008 Pattern) (General Paper - I)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each: (any two) [10]
i)  Vakataka ruler - Pravarsena II.
i1)  Scholastic (Panditi) Literature.
iii) Paintings in Medieval Maharashtra.

iv) Dutta Cult.

(Q2) Write notes on, in 100 words each: (any four) [20]
i)  History of Marathi Language.
11) Baldic Literature.
iii) Importance of village community (Gaongada).
iv) Contribution of Nath Cult.
v)  Yatras in Maharashtra.

vi) Agriculture in Maharashtra.

PTO.



03) Answer the following questions in 200 - 250 words each: (any three) [30]
1)  Discuss the various types of culture.

i1) Explain the importance of the Satvahana dynasty in the history of
Mabharashtra.

ii1) Which were the main industries in Medieval Maharashtra.
iv) Describe the old folk-arts in Maharashtra.

v) Describe the festivals in Maharashtra and state in brief their importance.

04) Answer the following question in 500 words: (any one) [20]

1) Take a review of the Mahanubhav and Varkari literature in Medieval
Maharashtra.

11)  Write an essay on the 'Care architecture in Maharashtra.
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Total No. of Questions : 4]

P146 [4801] - 127
F.Y. B.A.
HISTORY OF CIVILIZATION
Maharashtra Culture (Upto 1818 A.D.)
(2008 Pattern) (General Paper - I)

(ST EUTR)

gez : 3 amE] [ TzuT 7797 - 80
o o~ 1) & T97 @S0 SEavas 3.

2) Idimsier s qul T FEETA.

3) @gulardt ger sl gvaaiAeT ggrHl.

yp7 1)  Wrelier SeArEh Sedeht S0 visatd S ferat. (SRIvTEt §) [10]
i) aeHEH Jadt — TR (SE).
i) o e
i) WA TEwETe fmea.
iv) 9 HuqH.

yp72) "Rt 100 vregma & forar. (it =m) [20]
i) Tt vmen g,
i) i arswE.
iii) TERTIEATE HE.
iv) e HueET deE.
V)  WERIEI AT
vi) WERIES .



7973)  Eeer SeAE ekt 200-250 veaw IR . (R ) [30]
i) wxpden fafay ywr Tt %
ii) TERTEEA SfAgMdiel |IdaTEA SRIvaT Hged TI8 .
iii) TG HERIE THE STNTES hivrd ?
iv) WENIEIe! I ciiehehetel JUH .
V) TERIEE T0T JUH Thied el Uged ATSaITd §i.

g7 4) @rete agEr S 500 vree fogl. (ShuTardl ueR) [20]
i) AT RIS HETE T TReRd Tnfgearen seTan w=.

i) ‘FENERS oo T AR fEy forr.

XXXX
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Total No. of Questions :4] SEAT No. :

P147 [Total No. of Pages : 4
[4801] - 128
F.Y. B.A.
HOME ECONOMICS
G - 1 : Household and General Economics
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2)  Diagrams must be drawn wherever necessary.
3)  Figures to the right indicate full marks.

Q1) Answer the following concepts in 50 words each (Any two): [10]
i)  Income Elasticity of Demand.
ii) Standard of living.
1i1) House planning.

1v) Human value and Goals.

Q2) Write short notes in 100 words each (Any four): [20]
1)  Determinants of Demand.
i) Poverty in India.
ii1) Sources of Human values.
iv) Sources of Public Expenditure.
v) Importance of Home Decoration.

vi) Importance of Decision making.

PTO.



03) Answer the following questions in 200 words each (Any three): [30]
1)  Explain the Law of supply with suitable example.
i1) Explain the functions of money.
ii1) Explain the factors that affect the taxable capacity.
iv) Explain the process of Home management.

v) Explain the elements of interior and exterior Home Decoration.

04) Answer the following questions in 500 words each (Any one): [20]
i)  Explain the functions of Commercial Banks.

ii)  Explain the process of Decision making with suitable example.

XXXX
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Total No. of Questions : 4]

P147 [4801] - 128
F.Y. B.A.
HOME ECONOMICS

G -1 : Household and General Economics
(2008 Pattern)

(ST EUTR)

ge : 3 ard] [ TgBor 79T - 80
o .~ 1) @ T97 @S0 Havas g,

2) EvEE A9 AW HATHET FHE.

3) Iwdlegier oie gut or FIfaar.

4) @gularsl ez A TIAUABT TETA.

gy7l) A HehedATel ST TRt 50 vea forgl. (FRivTeTEt 3F) [10]
i) WU I Aateehdr
i) guiHETe g
iii) TefE
iv) WFEEa ST SEss

gg72) fom o et 100 vreem@. (SHIvTeTd uw) [20]
i) wrfa Feies
i) wwaTe alies
iii) W ARt
iv) wrEStes T wwt

V)  TRESTEEr HEed
vi) i Fuem g



g973)  ETele S IW Seht 200 e forar. (Shiorerdt €9) [30]
i) UEsuTn A9 GigERuT T .
i) 9N S T w0,
iii) TRURUETAER URUTH SHIUTR ©eeh TU8 .
iv)  TEcHEETdA UfshAT T8 .

V) ST 3MfuT Sfia TEesTee gedh TIE .

g7 4) @reld Ty SW T 500 vieea forgt. (SivmTdt uen) [20]
i) AU SR S T .
i) snfeer Fuim ufskn AR T+,

XXXX
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Total No. of Questions : 4] SEAT No. :

P148 [Total No. of Pages :12
[4801] - 129

F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. G -1(A) : War and Warfare
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each (any Two): [10]
1)  Give Economic causes of War.
i1)  State the tactics of Guerrilla Warfare.
ii1) Explain the concept of Nuclear War.

iv) State factors affecting on chemical attack.

02) Write short notes in 100 words each (any Four): [20]
1)  Consequences of War.
i1) Conventional Warfare.
i) Total War.
iv) Che-Guevera.
v) Counter Insurgency.

vi) Biological Warfare.

PTO.



03) Answer in 200 to 250 words each (any Three): [30]
1)  Explain the features of modern War.
i1) Explain characteristics & causes of Insurgency.
ii1)) Describe the Development of Nuclear Weapons.
1v) Describe in detail chemical warfare.

v) State Nature and means of Economic warfare.

Q4) Answer in 500 words each (any One): [20]
i)  Explain nature and means of Psychological warfare.

ii)  Explain the principles of Guerrilla warfare.

[4801]-129 2



Total No. of Questions : 4]
P148 [4801] - 129
F.Y.B.A.
GILIUT ST ITHRERIT
D.S. G - 1(A) : g ST Jgagelt
(2008 Pattern)
(WSt TUTaR)

ge : 3 ard] [ TzuT 7797 - 80
e :— 1) & 997 @Islaul Savasds SEd.
2) ITEIBSIT 3% TPATR QU 0T FIAAI.

go7l) i e W SRt S0 g forEr. (RiEt 3M) [10]
i) ggret enfdfew wror |
ii) iRl Tgugds e |
iii) onfueeh FgreRt HeheuT €I .
iv) TEEF® geodTer TRUTH HIUTR U2 T,

Fo72) Wt 100 veg fm forgr. (wivreard@ =m) [20]
i) Fgr uiom
ii) uRUR® Fgugd
iii) e gg
iv) = - g
v) ufd - fawa
vi) ifereR Fgugdt



Ty73) ETele g s SRt 200 d 250 vieeE fotgt. (it 69) [30]
i) Ny gt AT TE w.
i) fercererht afvrest enfor wror w02 w0
iii) STUaE=aT foehTET qUH .
iv) TEEHS JEUgard Ao qui &
V)  oTidieR GgugHiel TEY ST | §im.

g7 4) @rete agEr S 500 vee fogl. (ShuTardl ueR) [20]
i) AHAEYTEE ggre Ty AT JieH T8 .
ii) T Fgugdren ac a8 .
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Total No. of Questions : 4]

P148
[4801] - 129
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. G - 1 (B): Defence Organization of India
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each (any two): [10]
i)  What is the role of coast Guard?
i1)  State the principles of Intelligence.
ii1) What are the limitation of Artillery?

iv) Explain the structure of chief of the staff committee.

(2) Write short notes in 100 words each (any four): [20]
1) President
i1)) Border Security Force
iii)) RAW
iv) Characteristics of Armoured Corps
v) Army Service Corps

vi) Role of Infantry



03) Answer in 200 to 250 words each (any three): [30]
1)  Explain the principles of Defence Organisation.
i1) Trace the growth of Indian Army Since 1947.
ii1) Explain the structure and functions of the ministry of Defence.
iv) Explain with help of chart the organisation of Naval Head Quarter.

v) State the brief History of Intelligence Organisation.

Q4) Answer in 500 words each (any one): [20]
i)  What are the characteristics, Role and limitations of Indian Navy.

ii) Describe the Various types of Aircraft in Indian Airforce.

[4801]-129 6



Total No. of Questions : 4]

P148

[4801] - 129
F.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
D.S. G - 1 (B): Defence Organization of India

(2008 Pattern)
(TS EUTR)

gz : 3 ard]
geAr .~ 1) & T97 QISlav savad Higd.

2) IwHlmSicT 3k QUi JoT FIfEAr.

[ ez 71 - 80

o7 1)

797 2)

WA S9ATE IW Seeht 50 veam forgt. (Shiuragt g)
i)  TeXeTeh AT 1A IV ?

ii)  vrferees FATER qe F.

iii) AreETETe Tt R ?

iv) WTEag | O T .

Wkt 100 vreama feun forgt. (RivTETEt =)
IR

i) i gRen A

iii) .

iv) focrad gemh afw

v) B EE fawm

vi) urEEesTHl S

[10]

[20]



gg73) el gt SW gt 200 °@ 250 veem ot (Riumg i) [30]
i)  TREIUT HEeAd acd T .
ii) 1947 UTgR AR TUEHAEA1 [hTETen STeTaT 4.
iii) ERETUT HEATEATE TEAT SATUT SRl T .
V) SIRFESITeal HIga FeH1 SHE HEieEr 9t T8 &
V) TR HEe 3deT UtesrT |

g7 4) el agEar SW 500 viegra fotgt. (ShivTEt Ue) [20]
i) VR ATfereR T A9, S 9 HAtel v ?

i) YR gaEeArde fafae yerrean femm suia .

XXXX
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Total No. of Questions : 4]

P143 [4801] - 129
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. G - 1 : (C) Military System of India
(Up to Revolt of 1857)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :-

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each (any two): [10]
1)  State the scope of Military History.
i1) Describe the strategy of Alexander in the battle of Jhelum.
iii) Explain the second battle of Tarrain.

iv) State the strategy in the battle of plassey.

(Q2) Write short notes in 100 words each (any four): [20]
1)  Arms in vedic period
ii)) Kautilyas philosophy of War
iii) Turkish strategy in battle of somnath
1v) Rajput cavalry
v) Military Reforms of Allauddin Khilji

vi) Maratha forts

PT.O.



03) Answer in 200 to 250 words each (any three): [30]
1)  Explain the nature of war in vedic period.
i1) Describe the military reforms during the sultan period.
ii1) Give the military Administration of Shivaji.
iv) Explain organisation of maratha Army in the 17" century.

v) Explain the causes of decline of Shikh militarism.

04) Answer in 500 words each (any one): [20]
1)  Explain in detail Gupta's military system.

ii)  Discuss the battle of Jhelum? Why did Alexander succeed in the battle?

[4801]-129 10



Total No. of Questions : 4]

[4801] - 129
F.Y.B.A.

TIQIUT SATMOT TTHRERITE
D.S.G-1:(C) WRAT! TIhI STATAT
(1857 == ISTETAAA)

(2008 TH)

(WS FUIR)

P148

ga : 3 ard] [ vzr 77 - 80
AT .~ 1) @ 97 @isiav sravas igd.
2) IS ek Ty QU JOT FPiaara.

gy71) wEER 50 v W forEn. (v 99) [10]
i) Rl sl ST arm.
ii) SreTHE TeEe SeerRIets TRl graue faug #a.
iii) E gEY TeE WY wH.
iv) T deTsdiel St |,

gg72) g 100 visam foun forgr.  (whorerd@ um) [20]
i) afew Fere =

11



gg73) W@rete gt geaeht 200 @ 250 veeE S o, (gl 6i9) [30]
i) dfee were Jgr ey T &
ii) e HBHA TTehil GLURUTS JUH .
iii) ToraTiean wTeTdier eTshll sawen |,
iv) 17 =1 ViaehTdiel TIST & Tge T8 .

v) Tora wrsehiieRiuT=an U=l ROl TY .
g7 4) @reld agEr S 500 viee fogl. (ShIvTardl ueR) [20]
i) 7| HIEH = Ugdt Afe T8 .

i) ST ARTEE Tl Tl AT ARTSd IS Shl IR ST ?

XXXX
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Total No. of Questions :4] SEAT No. :

P149 [Total No. of Pages : 4
[4801] - 130
F.Y.B.A.
SOCIAL WORK (General)
I) Social Reform Movements in India
IT) Introduction to Social Welfare & Social Services
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-

1)  All questions are compulsory.

2)

Figures to the right indicate full marks.

Q1) Answer any two questions in 50 words each: [10]

State the objectives of Brahmo Samaj.
State the meaning of traditional Social Work.
State the meaning of Social Welfare.

Explain the concept of Social Justice.

02) Answer any four questions in 100 words each: [20]

Discuss about Mahatma Gandhi's contribution to social reform
movement.

Explain the activities of Prarthana Samaj.

Write a note on Ramkrishna Mission.

Explain the work of post-Independence reform movement.
Explain the history of origin of social service.

Write a note on welfare provisions for Backward classes.

PTO.



03) Answer any three questions in 200-250 words each. [30]
1)  Distinguish between social reform and social work.
i1) Critically discuss the 'achievements of Bhoodan movement'.

i) Write a note on Dr. Babasaheb Ambedkar's work on 'removal of
untouchability'.

iv) Critically discuss the development of social service during independence
period.

v)  Write a note on rights of weaker sections.

04) Answer any one question in 500 words. [20]
i)  Write an essay on ‘Social reform movements in India’.

ii) Critically discuss the achievements of the welfare of weaker sections
through five-year plans in Maharashtra.

[4801]-130 2



Total No. of Questions : 4]

P149 [4801] - 130
F.Y.B.A.
SOCIAL WORK (General)
I) Social Reform Movements in India

II) Introduction to Social Welfare & Social Services
(2008 Pattern)

(AT EUTR)

gez : 3 amE] [ TzuT 7797 - 80
e -— 1) @ 97 Gislavl Sravasd Sigd.

2) Iwdiemsier s qul quT FEET.

3) g@ T TIAAEET AET ERTE.

o7 1) U@ 3 TR 50 vrsgiasa IW v [10]
i) ST e 3 AR,
i) URUIeR Su e 3tef E.
iii) T hedToT =1 Fren 3 .
iv) WHISTeR = a1 Heheuan 21ef TR,

T72) U@ @R g 100 vegida IW o [20]
i)  WTHISTeR GURUT Tesaehia HeledT Meiedn TRTgHTe o ol
i) e AuTTe 3UshY T .
iii) reReuT v AR oo forat.
V) TR 9 GURUT Teac el T8 .
V) TS AT G SiagT T8 .
vi) HRTE Fffarerdt wesmurhrl aidg arer feuun forar.



o7 3) U@ dm g 200-250 viegioda IR o [30]
i) EHS GUROT 9 TH i AT Tleh dET.
i) ‘YgM Iwaest wAYd aTeR fwren Tt .
i) rgvad Fanume . aememRe gt 9 S e 2u forer.
iv) T HIBTe TH Sdren s arer e ==t &
V) T geehid g arer fu forgn.

97 4)  wUTETE Ueht TgATER 500 vrsgiada St forgn. [20]

i) ‘ORATE TS YR geact arer Haw ot

ii) ‘TR UEyeh Ao HISAHTIT gaet Heshied shedtum<l weas ar<i
e ==t w.

XXXX
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Total No. of Questions : 4]

P150

Time : 3 Hours]

SEAT No. :
[Total No. of Pages : 4

[4801] - 131
FY. B.A.
MATHEMATICAL STATISTICS
Discrete Probability and Probability Distributions
(2008 Pattern)

[Max. Marks : 80

Instructions to the candidates :-

1) All questions are compulsory.

2)
3)
4)

Q1) Attempt ANY TWO of the following.

a)
b)

d)

Figures to the right indicate full marks.
Use of calculator and statistical tables is allowed.
Symbols have their usual meanings.

[2 x5 =10]
Write a note on deterministic model and non-deterministic model.
State axioms on probability and prove that:

P(A)+P (A =1

Define the following terms:

1)  Sample space.
i1) Equiprobable sample space.

111) Mutually exclusive events.

Let X be a discrete random variable (r.v) with probability distribution
as given below:

X -2 -1 0 1 2
P[X =x][0.10 0.25 0.15 0.30 0.20
Compute:

i)  Distribution function of X.
i) Median of X.

PT.O.



02) Attempt ANY FOUR of the following:

a)

b)

03) Attempt ANY THREE of the following.

a)

[4 x5 =20]

Define r'" order raw and central moments of a probability distribution.
Also, obtain the expression of third order central moment in terms of
raw moments.

Let (X,Y) be a bivariate discrete r.v. with joint probability distribution
as given below:

Y -1 1
X

1 k 4k
2 Sk 2k
3 3k k

Find : i) the value of k,
i) E(X+Y).

Define independence of two events. If A and B are two independent
events, prove that A and B¢ are also independent.

A discrete r.v. X takes values 1,2,3,......n with equal probabilities. If
the variance and mean of X is equal. Find the value of n.

Define expectation of function of bivariate discrete random variables
(X, Y) with usual notations prove that:
EX+Y)=E X)+E(Y).

Let X be a discrete r.v. with probability distribution as given below:

X 1 2 3 4

P[X = x] 0.2 0.4 0.3 0.1

Compute mean and variance of X.

[3 x 10 = 30]

i)  Derive Poisson distribution as a limiting case of binomial
distribution. [6]

i1) Define pairwise and mutual (complete) independence of three
events. [4]

[4801]-131 2



b) 1) State and prove Baye's theorem. [6]

ii) If P(A)=0.4, P(B) = 0.7 and P(ANB) = 0.3
Compute P(A°UB°) and P(A°*NB ) [4]
c) 1) Define uniform distribution and obtain its mean and variance.[6]
ii) State any four properties of cumulative distribution function of a
discrete r.v. (4]

d) 1)  With usual notations, prove that:

Var(X - Y) = Var(X) + Var(Y) -2 Cov(X, Y) [6]
ii) Give the classical definition of probability with its limitations.[4]
e) 1) State and prove additive property of binomial distribution.  [6]
ii) Obtain mean of hypergeometric distribution. [4]
04) Attempt ANY ONE of the following. [1 x 20 =20]
a) 1) State and prove the effect of change of origin and scale on variance.[S]
i1) If X follows Poisson distribution with parameter m such that
P[X = 2] = P[X = 1], find the value of mean of X and hence
obtain P[X>2]. [5]
1i1)) Let (X, Y) be a bivariate discrete r.v. with joint probability

[4801]-131

distribution as given below:

Y
X 1 2 3
0 .05 0.12 0.15
1 0.18 0.2 0.05
2 0.03 0.1 0.12
Compute:

I) Marginal probability distribution of X.
II) Conditional probability distribution of Y given X = 2.
IIT) Conditional mean of Y given X = 2. [10]



Let (X,Y) be a bivariate discrete r.v.s with joint probability distribution

b) i)
as below:

Y 0 1 2

X

1 1 2 L
27 27 9
3 1 2

0 7 v v
1 2 2

E 27 5 27

Compute:

I) P[X=>0;Y>1].

I PIX+Y=0].
IIT) Covariance between X and Y.
IV) Verify independence of X and Y. [10]
ii) Let X follows binomial distribution with parameters n and p:
I) If E(X) = 6 and Var(X) = 4.2, find n and p.
IT) If p = 0.6 and E(X) = 6, find n and Var(X). [5]

iii) Define probability generating function of a discrete r.v. Obtain
it for binomial distribution with parameters n and p. [S]

XXXX
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Total No. of Questions : 4] SEAT No. :

P151

Time : 3 Hours]

[Total No. of Pages : 3
[4801] - 132

F.Y. B.A.
OPTIONAL ENGLISH

Poetry and Minor Forms of English Literature

(General Paper - 1) (2008 Pattern)

[Max. Marks : 80

Instructions to the candidates :-

1)
2)
Q1) a)

b)

All questions are compulsory.

Figures to the right indicate full marks.

Answer the following questions in about 20 words each (any FIVE).[10]

Vi)

Define the term ballad.

What are the two salient features of one-act play?
What are the types of sonnet?

What are the themes of an epic?

How do you define a lyric?

What are the types of ode?

vii) How is the setting in a short story?

Identify and explain briefly the literary devices used in the following

lines (any FIVE). [10]
1) My love is like the melody

i1) Conspiring with him how to load and bless

iii) Love is not Time's fool

1v) Fluttering and dancing in the breeze

v)  Why are they suddenly wheeling, wheeling?

vi) Sing heav'nly Muse, that on the secret top of Oreb, or of Sinai,

dist inspire

vii) They clicked their tongues

PTO.



Refer briefly to the context and explain fully any Two of the following.

ii)

i)

1v)

[10]
O what is that light I see flashing so clear
Over the distance brightly, brightly?
Continuous as the stars that shine
And twinkle on the Milky Way,
They stretched in never-ending line
Along the margin of a bay.
The woods are lovely, dark and deep,
But I have promises to keep,

And miles to go before I sleep, before I sleep.

‘HOW DARK? ....I had not misheard....."ARE YOU LIGHT
OR VERY DARKY

02) Answer any ONE of the following questions in about 150 words. [10]

a)
b)

c)

Discuss ‘Let Me not to the Marriage of True Minds’ as a sonnet.

How does the poet comment on the typical superstitious attitude of the
Indian peasants in the poem ‘Night of the Scorpion’?

Examine ‘A Red, Red Rose’ as a love lyric.

03) Answer the following questions in about 150 words each (any TWO):[20]

a)
b)

c)
d)

Comment on the title of the story - “The Eyes Have It’.

Explain the central theme of the story - ‘The Greedy Old Woman and
the Lime Tree’.

Write a note on the class conflict in the story ‘The Doll’s House’.

Comment on the end of the story - ‘“The Golden Touch’.

[4801]-132



Q4) a) Answer any ONE of the following questions in about 150 words.[10]
1)  Attempt the character sketch the bus conductor.
11) Examine ‘My Financial Career’ as a personal essay.

iii)) Comment on the logical and rhetorical structure of the essay
‘Hobbies and Interests’.

b) Answer any ONE of the following questions in about 150 words.[10]
i)  Attempt the character sketch of Abel Merryweather.
11)  Explain the tragic element in one-act play ‘The Monkey’s Paw’.

iii)) Comment on the element of suspense in one-act play - “The
Professor’.

XXXX
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Total No. of Questions : 4] SEAT No. :

P152 [Total No. of Pages : 4
[4801] - 134
FY. B.A.
COMMERCE
G - 1: Organisation of Commerce
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each. (Any Two) [10]
i)  Explain the Nature of "Trade'.
i) Give the meaning of Retail Trade.
iii) Define the term 'Internet'.

iv) Meaning of 'Standardisation'.

02) Answer in 100 words each. (Any four) [20]
1)  Explain the Limitations of Air-Transport.
i1) Explain scope of commerce.
ii1)) Explain the importance of commerce.
iv) Explain about Branding.
v) Explain the features of Life-Insurance.

vi) Explain the term 'finance'.

PTO.



03) Answer the following questions in 250 words each. (Any Three) [30]
1)  Explain the functions of Advertising.
i1) Explain the importance of Retailer.
i) Explain elements of marketing.
iv) Discuss - Evolution of marketing.

v) Explain elements of marketing mix.

04) Answer in 500 words each. (Any one) [20]
i)  What is wholesale Trade? Explain functions of wholesaler.

11) Comment on - selecting advertising as a career.

XXXX
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Total No. of Questions : 4]

P152 [4801] - 134
EY. B.A.
COMMERCE
G - 1: Organisation of Commerce
(2008 Pattern)
(TS TUTaR)
ge : 3 ard] [ TzuT 7797 - 80
o o~ 1) & T97 @S0 SEavas 3.
2) Idimsier s qul T FEETA.
g7 1) el et gkt 50 vegia S ol (vl gF) [10]
i) TR @Y WY &
i) fortenies =M= 3et @,
i) ‘FeTe T T SRS &;.
iv) ‘smTofieRwuTEn 319l |,
T972) e gt S 100 veaE I . (Fed 9w) [20]

i) EaTS ATEEhieaT HAIET TIE A
i) afuTeaT=h STt T w1,

iii) =TT A T AT

iv) fergiena amer wfgt forar.

v) Siem ferami afvrst woe w0,
vi) ‘fomr amer mifgd foran.



gy7 3) Erele S et 300 g S ot (ShiurEt g) [30]
i) SRl wE Y w9
i) TReRI® aURN AEe T w1
iii) fooUER Uew TE w1
iv) Teoumrh Scrid’ o=t %,
v) fouvm g wew we =

g7 4) @t g 400 g IW gl (SHIoTaTg uen) [20]
i) TS SUR TEUTH T ? UTSeh AR hid T .

i) ‘e U SRR rguE e Rutt .
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Total No. of Questions : 4] SEAT No. :

P153 [Total No. of Pages : 4
[4801] - 135
F.Y. B.A.
G-1: EDUCATION
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Write the answers of the following questions in 50 words. (Any two) [10]
i)  Write the individual importance of Education.
ii)  Write the importance of Value Education.
iii) Explain the Educational objectives of Kothari Commission.

iv) Concept of Education.

Q2) Write the short notes in 100 words each. (Any four) [20]
1)  Observation Method.
i1) Concept of Family.
ii1) Objectives of Adult Education.
iv) Characteristics of Ancient Indian Education.
v) Objectives of Women's University.

vi) Merits of Experimental Method.

PTO.



03) Write the answers of the following questions in 200 to 250 words each.
(Any three) [30]

1)  What is Primary Education ? Explain the importance of Primary
Education.

i1) Explain the educational functions of Karmaveer Bhaurao Patil.

ii1) Explain in detail educational objectives of National Policy of Education
(1986).

iv) What is mass communication media? Explain the role of Television in
Education.

v) What is Introspection method. Explain the merits and limitations of
Introspection method.

vi) What is Health Education? Explain the importance of Health Education.

04) Answer any one of the following question in 500 words. [20]

i)  What is formal and Non-formal Education? Explain the difference
between them.

i)  Explain in detail the Educational thoughts of Mahatma Jyotirao Phule.

XXXX
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Total No. of Questions : 4]

P153 [4801] - 135
F.Y.B.A.
G - 1: TreTuTITI SN
(2008 TZH)
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vi) TR e gt s ? IR e vEwa wE w5

g7 4) W RIS Teht T9Ar 3w 500 vser forgt. [20]
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.

ii) W SEfoE Gl e Feturens e At e .
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Total No. of Questions : 5] SEAT No. :

P154 [Total No. of Pages : 4
[4801] - 136
F.Y.B.A.
MATHEMATICS
FMG -1 : Industrial Mathematics
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Graph papers will be supplied on demand.

4)  Use of scientific non-programmable calculators is allowed.

Q1) Attempt each of the following: [16]

i)  Find the present value at 6% simple interest of Rs.1,500 due in 9 months.
ii)  Find the simple interest and amount of Rs. 4,500 at 5% for 10 months.

ii1)) A certain sum is invested for 4 years and 3 months compounded
monthly at 8%. Find the rate of interest i per interest period.

iv) Find the slope of the line 2x + 3y = 7. Also find y-intercept.

lim  x*+3x+5

v) Evaluate 5

. 4x* =3 . . dy
vi) If y= ,find — .
) Y 2x° dx

vii) If P = Q* + 2Q + 1 is the supply function, find the total revenue
function. Hence, find the marginal revenue function.

viii) Find the price elasticity for the demand function Q = 1400 —p>.

PTO.



02) Attempt any four of the following: [16]

i)  Find the amount and present value of an annuity of Rs.3,000 per month
for 3years, 6 months, if money is worth 6% compounded monthly.

i1) Show that exact simple interest is equal to ordinary simple interest

1

decreased by = of itself.

1i1) M aves Rs.10,000 due in 1 year and Rs. 30,000 due in 4 years. He
agrees to pay Rs. 20,000 today and the remainder in 2 years. How
much must he pay at the end of 2 years if money is worth 5%
compounded semiannually?

iv) Define the following terms:
a) Ordinary Annuities Certain.
b) Nominal and effective rate of interest.

v)  Write a short note on 'Promissory Notes'.

vi) How long will it take Rs. 3,000 to amount to Rs. 3,100 at 5% simple
interest.

03) Attempt any two of the following. [16]

i)  Plot the graph of the curves y = x> — 1 and y = 3x — 1. Find their points
of intersection.

i1)  With the usual notation, prove that
Q) Shrkli=S Wi+ a+iy Skli
b)  Yh+k]i=? nli+Q+i)" Ykl

iii) Either Coal (C) or Gas (G) can be used in the production of steel. The

cost of coal is 100, the cost of gas 500. Draw an iso cost curve showing
the different combinations of gas and coal that can be purchased.

a) with an initial expenditure (E) of 10,000,
b) if expenditure increases by 50%,

c) if the price of gas is reduced by 20%,

d) if the price of coal rises by 25%

[4801]-136 2



iv) Find the reduced form of the following income determination model

where investment is not autonomous but is a function of income. Find
the numerical value of the equilibrium level of income Y .

Also, show what happens to the multiplier
Y =C+I,C=C,+bY,I=I, +aY,

Where C,=65,1,=70, b=0.6and a=0.2

04) Attempt any four of the following. [16]
1) Let u and v be differentiable functions of x. If y = uv. prove

iii)

V1)

dy dv du
—=y—t—".V.
that dx dx dx
2
X 5x+6 if x 2
2x—-4

Discuss the continuity of the function f over R.

I 3y5—6y3+5x6=343+k,ﬁnd%(wherekeR). Also find value of k if

(1, 3) satisfies the given equation.
Optimize f(x)=2x-30x>+126x+59.

Prove that the Marginal Cost (MC) must equal marginal revenue at the
profit-maximizing level of output.

The demand function is Q = 20 —5p. Find the inverse function. Estimate
the elasticity of both functions at P = 2.

[4801]-136 3



05) Attempt any two of the following. [16]

i)

iii)

a) If y=f(x)is differentiable at x = a then prove that it is continuous
at a.

b) Let Y= 2 |al- Show that y is differentiable at O.

Let y=x*+3x*+9x—7. Investigate the successive derivatives dy and
evaluate them at x = 3.

) ) . 3
a) Find the marginal cost function if AC =§Q+4+46Qaf Q=2.

b) Test whether f(x)=3x>-14x+5 and g(x)=x*—-6x’+4x*-13 are
increasing, decreasing or stationary at x = 4.

Prove that for all positively sloped linear supply curves ,E, <1 if the
supply curve has negative vertical intercept, E, >1 if the supply curve
has positive vertical intercept. What happens if E, =1 ?

XXXX
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Total No. of Questions : 4] SEAT No. :

P1982 [Total No. of Pages : 4
[4801]-137
F.Y. B.A
PHYSICAL EDUCATION
(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to right indicates full marks.

3)  Draw the digram wherever necessary.

Q1) Answer the following in 50 words (any two): [5]
i)  Define physical education and explain
i)  Explain scope of physical education

i) Define sports sociology.

02) Answer the following in 100 words (any 2): [10]
i)  Importance of physical education fitness in youth.

i)  Explain the 'Athletics' and various events.

iii) What is health related physical fitness (HRPF)

03) Answer the following in 200-250 words (any two): [15]
i)  Draw a skech of hand ball and explain the game.
i) Draw a skech of kabadali and explain the game.

iii) Write importance of sports uniforms.

PTO.



04) Answer in 500 words. (any one) [10]
i)  Explain aim & objectives of physical educations.

i)  Explain play, games, and sports

Q00O
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Total No. of Questions : 4]

P1982 [4801]-137
F.Y.B.A
e foreror
(2013 de)

gz : 2 arqf
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i) difes Mo & 9 ke W W
ii) e (Play) @e (Games) $hiet (sports) TI€ .
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Total No. of Questions : 5] SEAT No. :

P155 [Total No. of Pages : 4
[4801] - 138
F.Y.B.A.
MATHEMATICS
MG -1: Algebra and Geometry
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-

1) All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Attempt each of the following. [16]

a) Give an example of a relation R defined on A = {1, 2 ,3} which is
symmetric and transitive but not reflexive.

b) State Euclid's lemma.

c) Letw 2 1 be acube root of unity. Find the real and imaginary parts of
w2014 + WZOIS .

d) Find a polynomial which is divisible by x — 1 and leaves remainder 2
when divided by x — 2.

e) Find the centre of the conic given by
3x* +2xy+3y* —4x+2y+1=0.

f) Find the equation of sphere passing through A (3, 2, —1) and
B (-3, -2, 1) with AB as diameter.

g) Find the equation of a plane passing through (1, 2, 3) having drs of the

normal as 2, 3, —6.

PT.O.



1 2 -1
h) Find the rank of the matrix A=12 4 3
6 6 2
02) Attempt any four of the following: [16]

a) Define Euler's Q-function. If p is a prime, prove that Q.(p")=p"-p""

b) Find all integer roots of x*+8x>+13x+6=0.

c¢) Using De moivre's theorem, show that

cos’(0) =%[cos 50+5c0s30+10cosé] and

sin5(9)=%[sin59—53in 30+10sin0)].

d) Lets be a non-empty set. If f:S— S and g:S— S are one-one and
anto functions then show that go f: S— S is also a one-one and onto
function.

e) If o is a non-real root of x’ = 1, find the equation whose roots are
a+a’,a*+a’and o’ + ot

f) LetS={1,2,3,4}and R={(1,1), (1,2) (2, 1), (2,2),@3,3),@3,4),
(4, 3), (4, 4)}. Show that R is an equivalence relation. Find all the
equivalence classes.

03) Attempt any two of the following. [16]
a) 1) Prove that for every integer n, 1" +8"-3" —6" is divisible by 10.

i1)  Write the multiplication table of Z_ *. Find the number of solutions
to the equation x* + 1 = 0.
b) i) Solve the equation x° —x°> + x* — 1 = 0.

i1) Find the cubic polynomial which vanishes at x = 1 and x = -2,
which takes value 50 at x = 3 and 72 at x = 4.

[4801]-138 2



c) 1) Letfix) = x* -8 and g(x) = x> + 2x + 4. Find ¢g(x), r(x) such that
Jfx) = g(x) g(x) + r(x).
ii) Solve the equation 4x* + 20x* — 23x + 6 = 0 if two of its roots are
equal.
Q04) Attempt any four of the following. [16]

a) By rotating the axes, origin being unchanged the expression ux + vy
becomes u' x' + v'y', show that ,2 4+ 2 = ,2 +,2 ?

b) Find the distance between the parallel planes
2x-2y+z+3=0and4x-4y+2z+5=0

) x-1 y-2 z-3 x-2 y-3 z-4

c) Prove that the lines > =3 "2 and 3 4 5 are coplaner.

d) Find the equation of the tangent plane at (x, y, z,) to the sphere
X+y +7i=a .

e) Find the equations of the planes bisecting the angles between the planes
x+2y+2z=9 and 4x-3y +12z+13=0. Also specify the one which bisects
the acute angle.

f)  Find the angle between two lines whose direction cosines are connected

by the relations [ + 2m — 2n = 0, 3/m — /n — mn = 0.

[4801]-138 3



05) Attempt any two of the following. [16]
a) Find the length and equations of the shortest distance between the lines.
L, 3x-9y+57=0=x+y-z
L, 6x+8y+3z-13=0=x+2y+z-3.

b) Reduce the equation 9x* —6xy+ y*—14x—2y+12=0 to the standard form
and name the conic.

c) Find the equation of the sphere passing through the points

A(2, 4, —1), B(0, -4, 3), C(=2, 0, 1) and D(6, 0, 9).

XXXX
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Total No. of Questions : 4] SEAT No. :

P156 [Total No. of Pages : 4
[4801] - 139
F.Y. B.A.
STATISTICS
Statistical Pre-requisites
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-

1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Use of statistical tables and calculator is allowed.
4) Symbols have their usual meaning.
5) Graph paper will be supplied on request.
Q1) Attempt any two of the following. [2 x5 =10]
a) Draw ogive curve for the following frequency distribution and hence
find median graphically.
Class 5-10 | 10-15f15-20 {20-25]25-30 |30-35 5-40
Frequency| 2 11 15 39 41 42 16
b) Write a note on moments
c¢) Compute geometric mean and harmonic mean for the following data:
38, 34, 30, 28, 47, 23, 45, 27, 37, 40, 41, 26, 43, 21.
d) Write a note on price index numbers.
02) Attempt any four of the following: [4 x 5 =20]
a) Describe the various scales of measurement with illustration.

PTO.



b) Following table gives the frequency distribution of monthly income of
175 employees of a certain company.

Income ('000 Rs.) Number of employees
25-26 15
26-27 18
27-28 24
28-29 36
29-30 45
30-31 24
31-32 13

Determine the value of mode to the above data.
c) Explain the various uses of cost of living index number.

d) Define bivariate data with illustration and explain the concepts of
correlation between two variables.

e) Explain the merits and demerits of geometric mean.

f) A variable takes values 1, 4, 9, ..... , n? with frequencies 1, 2, 3,.....n.
Find its arithmetic mean.

03) Attempt any three of the following. [3 x 10 = 30]

a) 1) Compute Bowley's coefficient of skewness for the following data
and interpret the result. [7]

10.5, 12.3, 12.4, 10.6, 11.5, 13.6, 14.5, 16.8.

i1) Explain notion of a statistical population. [3]

[4801]-139 2



b) 1) Define regression coefficients and state its various properties. [S]

i1) Draw histogram for the following continuous frequency
distribution and hence find mode graphically. [5]

Class 10-20{20-30|30-40|40-50| 50-60| 60-70( 70-80

Frequency 27 29 39 90 54 52 40

c) The following bivariate data describes the temperature (in °c) for the

first week in a month of July for a certain city: [10]
Day in Week Temperature

(X) (¥)

1 22
2 24
3 25
4 27
5 29
6 21

Find the correlation coefficient between x and y. Also, comment on
your result.

d) 1) Explain concept of dispersion. State characteristics of good measure
of dispersion. [6]

ii) Explain notion of dichotomy and manifold classification. [4]

e) 1) Draw scatter diagram for the following bivariate data and hence
comment on type of correlation. [5]

X 47 19 79 27 94 65

Y 166 178 272| 246| 300 | 236

i1) Explain concept of independence and association of two attributes.

[S]
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04) Attempt any one of the following.

a)

b)

)

ii)

iii)

ii)

iii)

[1 x 20 =20]

Explain the graphical method of determination of quartiles, deciles
and percentiles for grouped frequency distribution. [S]

Fit linear regression of Y on X and X on Y for the following

bivariate data: [10]
Height (in cm.) (152 | 145 142 | 173 | 134 | 133

X)
Weight (in kg.) K42 43 53 49 78 66

(Y)

Explain various problems in construction of index numbers. [5]

Calculate central moments up to fourth order and hence find
measure of kurtosis for the following frequency distribution and

interpret.
Class 11-21 | 21-31 | 31-41 | 41-51 | 51-61
Frequency | 7 13 24 18 12

Explain notion of a sample with its various types.

[12]

[3]

Calculate the coefficient of association using the following
information and interpret the result.

[4801]-139
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Total No. of Questions : 4] SEAT No. :

P157 [Total No. of Pages :7
[4801] - 140

F.Y.B.A.
LOGIC AND PRINCIPAL OF REASONING

Introduction to logic & Principles of Reasoning
(2008 Pattern) (General Paper - I)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1)  All questions are compulsory.

2)  Figures to the right side indicate full marks.

Q1) Explain briefly any two of the following: [10]
1)  Proposition and sentence
11) Deduction
iii) Tautology as a statement-form

iv) Difference between Rules of Replacement & Rules of Inference

(02) Write short notes on any four of the following: [20]
1)  Logical connectives
i1)  Petitio principii
111) Mediate Inference
iv) Categorical syllogism
v) Indirect proof

vi) Basic truth table of conjunction

PT.O.



03) Answer any three of the following. [30]

i)  Convert and obvert the following propositions.

a)
b)
C)
d)
e)

All Japaneseare honest

No men are perfect

Some Indians are knowledgable
Some rules are changable

Some flowers are not fragrant

i1) Explain traditional classification of propositions.

iii) Determine, whether the following statement forms are tautologous,
contradictory or contingent with the help of truth table method.

a)
b)
c)
d)
e)

(P-9)- (p o~9)
(pvqvVv-~p
p=I[p. (pVvql
q. (p- ~p)
(PVvaq.q

iv) Give direct deductive proof of any two of the following arguments.

a)

b)

c)

d)

1. (A v B) O (CeD)

2.~C [:.~A
1. DeE

2.DoF /.- F
l.(gv~r)vs

2. ~qv (r.~q) l..r>s
1.AeB
22.(AvC)=> D/ AD

v) Symbolize the following propositions using the symbols given in

bracket.

a) Ramesh is not writing and reading as well. (W, R)

b) If you write correct answers then and then only you will get full
marks (A, M)

c¢) If the argument is invalid then the premisses are true and the

[4801]-140

conclusion is false (A, P, C)



d) Itis not true that India is not agressive (I)

e) Either he is dead or alive (D, A)
Q4) Answer any one of the following.
1)  What is logic ? Explain it's scope.

OR

What is a fallacy? Give explanation of four fallacies you have

studied.

[20]

i) Demonstrate the invalidity of any four of the following arguments.

a)p:q b)
r o S

p VvV s

/.c.gvr

e) PoO f)
M>~N
(~Me~N)D(OeP)
/..0

XXXX

[4801]-140 3

M>oF
Go~M

/..G>o~F

~Ev~F
~(Ge H)D(EVF)
HoG

[:~~G

AD(B>o(C)
~Ce~A

[..~ADC



Total No. of Questions : 4]

P157

[4801] - 140
F.Y.B.A.
LOGIC AND PRINCIPAL OF REASONING

Introduction to logic & Principles of Reasoning
(2008 Pattern) (General Paper - 1)

(AT EUTR)

g : 3 ard] [ TzuT 7797 - 80
o o~ 1) & T97 @S0 Savae 3.

2) IwHlmSieT 3k QUi JoT FIfEAr.
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i) e sufuraem

i)
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i)  deheRIeh

ii) =R TR
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gy73)  EIicuchl SHIUTEETE diF ST ST Torat. [30]

i) reher faeme uited o gfdeds .

) Td AU grEIfuTeR 3TRd

q) THG "HS gUi A

%)  HE WRAE A A

T) Rl Fam ufeae swEam.

3)  HE G AT Fedr.

i) foeumre uRuTies affeon T .

ili) HTAT HITH UG WAl [Samae daa: o, gdaq: @ fohan Afufkes
HeITE SATEd o ST, (SRIUTdE =R)

A) (p-q. (p>~q

) (pvavVv-~p

&) p=I[p. (pVvgl

) q.(p.~p)

3 (pvaq
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V) WIcHcTdehl hIVTEATE aF Frehargret Teael Wi frgar go.
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#) 1.(AVB) D (CeD)

2.~C [:. ~A
F) 1. pDeE
2.DoF /- F

F) L(@v~P Vs
2. ~qN (r.~q) 7> s
8) 1.AeB
2. (AvC)>D/- AD
T oo fergren su=m wea welie faam fergifea .
&) W ferdiadt Tt enfor areadt T (W, R)
F) TR G T ST forgett R sTfvT T graTen gut Ut fWesdier. (A, M)

F) W IhaE AU WA W AR U T ewdiar anfut fewd faem
@ 3. (A, P, O)

g) T TR T hl 9Ra msRek At (1)

3) @ UM 9a 36e fohan Nraa (D, A)



97 4)  WelicTdehl SHIVTTEl Teht U9 IR foTgl.

i)

1)

[4801]-140

TAhYITE TEUTS hT T[T ATt SATH TUE .

fRen

TehaY FEUTS ThiT ? Tl ST hIVTAE! TR qeherd TR,

WIUeht HIVTEATE! TR Y JhaTgral AL gRae &t/ g 4.

)

3)

P o q )
r o s
p VvV s
/.c.gvr
P v gq %)
~ P
/o~ q
P>0O )
M>~N
(~Me~N)D(OeP)

/.0

XXXX
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Total No. of Questions : 4] SEAT No. :

P158 [Total No. of Pages : 4
[4801] - 141
FY. B.A.
SOCIOLOGY
G - 1 : Introduction to Sociology
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain any two of the following concepts in maximum 50 words each:[10]
1)  Elements of social structure.
ii) 'Conformity' and 'Deviance'.
1) Tribal movement.

1v) Globalisation

02) Write short notes on any four of the following in maximum 100 words
each: [20]

1)  Re-Socialization.

i1) Ingroup and outgroup.
i) Gender

iv) Types of mobility.

v)  Women's movement

vi) Modernisation

PTO.



03) Answer any three of the following in maximum 250 words each. [30]
1)  Explain the Importance of Sociology.
i1)  Discuss the characteristics of social Groups.
ii1)) Explain the meaning and characteristics of class.
iv) Describe the Nature of social movements.

v)  Explain the Factors of social change.

Q4) Answer any one of the following in maximum 500 words each. [20]
i)  Define sociology. Explain the nature and scope of sociology.

ii) Define socialization. Discuss the aims and agencies socialization.

XXXX
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Total No. of Questions : 4]

P158 [4801] - 141
FY. BA.
SOCIOLOGY

G - 1: Introduction to Sociology
(2008 Pattern)

(ST EUTR)

ge : 3 ard] [ TzuT 7797 - 80
o o~ 1) & T97 @S0 SEavas 3.

2) IoEIRSIT A Ty QU qUT FIhEAr.

3) @uarst ges A TR TETl.

g7 1) Wreietdehl SR G Heheudl Jeehl 50 Iegiueid T . [10]
i) CHEEHT 9esh
i) eIgTer st faaer
iii) enfemt T@a®
iv) SfdehieRtoT

7972) W HEE SRR S 100 v fa frt, [20]
i) ATt
i) 3T o eI
i)
iv) TreitvfieTa™ YR
V) it asas

vi) enygfehteto



o7 3) WTelicTaehl ShIUTTE diF Serel Skt 250 vrsgiosa s forgt. [30]
i) EHTSITET Ugcd T8 .
ii) IR A AT T .
iii) TN 3ref g AP e .
iv) W T@a6s=dl TEuT 9uid .
V) WIS UREHTeA geshiel Tt .

97 4)  WIeeTdehl ShUeaTEl Tehl SeTeR 500 vrsaioeia 3w forer. [20]
i) AHSIITETE SR GH GHTSIET T 0T SATH 98 .

i) ISR SREAT AR AT TR 38 o |IEFT @ .

XXXX
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Total No. of Questions : 4] SEAT No. :

P159 [Total No. of Pages : 4

[4801] - 142
FY. B.A.
ANCIENT INDIAN HISTORY, CULTURE AND
ARCHAEOLOGY
G -1 : Outline of Prehistory, Protohistory and Early History

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :-
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (any two) [10]
1)  What is 'Protohistory'?
i1) How to preserve 'Heritage'?
ii1) State the four Noble Truths.

1v) State pallava Simhavishnu's contribution.

02) Answer the following questions in 100 words each. (any four) [20]
1)  What is an excavation?
i1)  State the characteristic features of Neolithic Age.
ii1)) Write the extent of Harappan civilization.
iv) State the impact of persian invasions.
v) Explain the southern campaign of samudragupta.

vi) Write the achievements of pulakeshi II, the chalukya ruler.

PTO.



03) Answer the following questions in 200-250 words each. (any three) [30]
1)  Discuss the salient features of paleolithic Age.
i1) Describe the reasons for the decline of Harappan civilization.
i) Write an essay on Megalithic culture.
iv) State the achievements of chandragupta maurya.

v) Describe the shaka-satvahana conflict.

04) Answer the following questions in 500 words each. (any one) [20]
i)  Explain the salient features of post-Harappan chalcolithic cultures.

i1) Discuss the contribution of the kushanas to Indian culture.

XXXX
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Total No. of Questions : 4]

P159 [4801] - 142
FY. BA.

ANCIENT INDIAN HISTORY, CULTURE AND
ARCHAEOLOGY

G - 1 : Outline of Prehistory, Protohistory and Early History
(2008 Pattern)

(FET EUTR)

ge : 3 ard] [ TzuT 7797 - 80
o o— 1) & T97 a9 Hed.
2) IoEIREIT i Ty QU JOT FIiEar.

gy7 1) el geAT=t SW Tt 50 vsgmE g, (Fivrerdt 2F) [10]
i) ghEE-gd’ QU w2
i) GRS Jaq Y HA ?
iii) =W o @ |,
iv) uga fefm—< Jem wim.

gg72) gt 100 vise@ dar o (Fived um) [20]

ii) aTgHgT= S5k SRl |,

iil) gemm HEpd = .

iv) oy Tar=aret uitum |,

V) O gign i e .

vi) <THH T GEN AR AT HWA T,



g7 3) el geAiEt SW gt 200 @ 250 e forgr. (vt ) [30]
i)  UUYHIIEA 3ok AfvTERIE Tt ol
i) ESTUT FEheea “graTel ROl JUT .
iii) wETaTSTOT TRt amer fae forar.
V) I WA HERR S

V)  Vh—HTAaTgs Sesie Jui .
g7 4) @rele agr S 500 vee fogl. (SRuTardl ueR) [20]
i)  ESTUT T ATHUTHTUT HEheiel 3e5eh AT9TEY TUE .

ii) SFETUTEAT WA HEhlcl SHciod ANTaMTeR et .
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Total No. of Questions : 4]

P160

Time : 3 Hours]

[4801] - 143
F.Y.B.A.
STATISTICS
Descriptive Statistics -1

(2008 Pattern)

Instructions to the candidates :-

1)
2)
3)
4)
3)

All questions are compulsory.

Figures to the right indicate full marks.

Graph paper will be provided on request.

Q1) Attempt any two of the following.

a)

b)

c)

SEAT No. :

Symbols and abbreviations have usual meanings.
Use of calculator and statistical table is allowed.

[Total No. of Pages : 4

[Max. Marks : 80

[2 x5 =10]

Write a short note on scope of Statistics in Economics.

Distinguish between SRSWR and SRSWOR methods of sampling.

Draw less than ogive curve and locate median for the following data:

Daily Wages

300-400

400-500

500-600

600-700

700-800

800-900

No.of Persons

12

24

42

15

d)

grouped frequency distribution.

02) Attempt any four of the following:

a)

With usual notations, show that S.D.> Mean deviation about mean for

[4 x5 =20]

State and prove minimal property of mean square deviation.

PTO.



b)

d)

Weights of 25 residues in mg of a certain alloy are given below. Prepare
stem and leaf chart for the following data:

25.0 24.6 23.1 249 233 24.2 255 23.7 23.6 23.5
26.5 25.7 22.7 23.7 24.2 233 25.1 24.6 23.1 23.7
25.1 25.6 25.1 24.3 24.8

If the A.M. and G.M. of the two observations are 13 and 12 respectively,
then find the two observations and hence find H.M.

For a symmetrical distribution with usual notations, show that

=2 ()]

Given x —y = 8 and x — 4y + 64 = 0, are the two regression lines, find
means of X and Y. Also calculate the correlation coefficient between X
and Y.

For moderately skewed distribution the A.M, median and coefficient
of skewness are 86, 80 and 0.42 respectively. Find mode and C.V.

03) Attempt any three of the following. [3 x 10 = 30]

a)

b)

For the following bivariate data of 25 pairs of observations find correct
correlation coefficient if wrong pair of observation (12, 16) is replaced
by (20, 60) as correct pair of observation.

n=25x=752X*=250,>Y =100,> XY =325 Y* =500

Given n pairs of observations (xi, yi) i = 1, 2,....n, explain the procedure
of fitting of line of regression of Y on X of the type Y = a + bX, by
least square method.

[4801]-143 2



c¢) Given the following data:

Marks in Mathematics Marks in Economics
Mean 80 50
SD 15 10
r=0.70

Calculate the marks obtained in Mathematics by a student who scored
60 marks in Economics. Also compute b and b, .

d) i) With usual notations prove that ,f2 >1.

ii) In a morbidity survey of 100 families, it was found that 50 were
attacked by typhoid, 25 were attacked by cholera and 20 were
attacked by both. Find the number of families not attacked by
both diseases.

e) 1) Given the following data:

Commodity Base year Current Year
Price | Quantity Price | Quantity
A 14 8 13 4
B 12 6 16 2
C 16 2 13 5
D 19 5 20 3

Find Fisher's price index numbers.

ii)) Compute Spearman's rank correlation coefficient between height
(in inches) and weight (in kgs) of 6 persons.

Height 72 60 63 66 70 65

Weight 65 54 55 61 60 58

[4801]-143 3



04) Attempt any one of the following. [1 x 20 = 20]

a) 1)

ii)

iii)

b) 1)

ii)

i)

[4801]-143

Define Karl Pearson's of correlation coefficient (r). Show that
—1<r<+1. [7]

Define: i) Attribute
i1) Dichotomy

ii1) Ultimate class frequencies [6]
Information of prices of shares of two leading companies is given
below: [7]
Company A | 10 12 09 15 20
Company B | 11 10 10 12 15

Which company had more stable prices? Justify your answer.

What is index number? Discuss the problems in the construction
of index numbers? [7]

Out of 800 students 320 are married. Among 240 students who
failed, 96 were married. Find the coefficient of association between
the attributes marriage and failure in Examination. Interpret the

result. [6]

Fit a second degree curve of the type Y = a + bx + cx’ by least
square method. [7]

XXXX



Total No. of Questions : 5] SEAT No. :

P161 [Total No. of Pages : 4
[4801] - 144

F.Y.B.A.
MATHEMATICS (Applied Mathematics)
AMG -1: Calculus
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :-

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt each of the following. [16]
a) Find the greatest lower bound and least upper bound of the set

S:{l/neN}
n

b) Discuss convergence of sequence < (—1)">.

n-1
. o[ 2
c) Discuss convergence of the series Z(gj
n=1

|x]

J)=—=1if x#0
X

d) Discuss continuity of
= 0 ifx=0

1
e) Evaluate lim e*

x—>0"

PTO.



lim Jogcos x

f)  Evaluate 50

g) Define the term 'series'.

h) If'Y = sinx cosx, find Y .

02) Attempt any four of the following. [16]

a) For all real values of x and y, prove that | x+y|<|x|+| y|

1
b) Show that the sequence (x, )=( - ) converges to zero.

c) Show that /5 is not a rational number
d) Find all real values of x satisfying |x+1|+|x-2|=7.
e) Show that every convergent sequence is bounded.

1 3 5
+ + +
1.23 234 345

f)  Discuss convergence of the series

03) Attempt any two of the following. [16]
a) State and prove Monotone convergence Theorem.

b) 1) If x> 0 then show that for any real number y there exists a natural
number n in N such that nx >y

ii) Show that the sequence <x > defined by x, =1 and x,,,=/2+x,

for all ne N is monotonic increasing and bounded. Also determine
its limit.

[4801]-144 2



c) 1) Test the convergence of the series -

ii) Find the convergence of the series-

2x+=x"+—x° ———+(nnt1) "
04) Attempt any four of the following. [16]

a) Discuss continuity of the following function

fix) = 2x-1 , if x<1
= X , if l<x<2

b) Using Maclaurins series, expand f(x) = tanx.

x .
c¢) Show that for all x>0’1+x2 <tan ' x<x.

d) Verify cauchy's mean value theorem for f(x)=sinx, g(x)=cosx on[a,b].

lim (1 1
e) Evaluate = -7

f)  Show that limit of a function, if exists, is unique.

[4801]-144 3



05) Attempt any two of the following. [16]

a) State and prove Rolle's Mean value Theorem.
Give its geometrical meaning.

b) i) If y=cos (m sin! x), show that -
(1=x") ¥4, = @Dy, +(m* =n*)y,=0.

i1) Verify lagrange's mean value theorem for f(x)=e*on[0,1].

¢) i) Evaluate M®inY
2

i1) Expand sinx in ascending powers of (x—%j.

XXXX
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Total No. of Questions : 4]

P162

SEAT No. :

[4801] - 145
F.Y.B.A.

APPLIED STATISTICS

Descriptive Statistics (Paper - I)
(2008 Pattern)

Time : 3 Hours]

Instructions to the candidates :-

1)
2)
3)
4)

All questions are compulsory.

Figures to the right indicate full marks.

Use of statistical tables and calculators are allowed.

Symbols have their usual meaning.

Q1) Attempt any - two of the following.

a)

b)

c)

d)

Write a note on simple random sampling.

State the merits and demerits of arithmatic mean.

Compute geometric mean of 10, 92, 39, 70, 42.

[Total No. of Pages : 4

[Max. Marks : 80

[2 x5 =10]

Represent the following data by a suitable diagram.

commodity %of expenditure
A 15
B 25
C 5
D 5
E 50

PTO.



02) Attempt any four of the following: [4 x 5 =20]

a)

b)

d)

f)

Define : Range and standard deviation. State the formula for each in
case of ungrouped data and frequency distribution.

Define raw and central moments. State relation between first four raw
moments and central moments.

Explain the following terms with one example each:

1)  Discrete variable and

i1) Continuous variable.

For a moderately skewed distribution coefficient of skewness is 0.60.
If sum of first and third quartile is 100 and median is 38, find the

values of two quartiles.

An incomplete frequency distribution of 100 observations is given
below:

Class-interval Frequency
20-30 14
30-40 -
40-50 27
50-60 -
60-70 15

If the mode of the distribution is 43, find the missing frequencies.

Draw less than ogive curve for the following data and hence obtain the
value of median graphically.

Marks 0-10 | 10-20 20-30 30-40 40-50

No. of
Students | 5 12 15 10 8

[4801]-145 2



03) Attempt any three of the following. [3 x 10 = 30]

a)

b)

d)

Explain different component of time series. [10]
1)  Write a note on "Kurtosis". [5]

i1)  Verify whether the attributes A and B are independent, positively
associated or negatively associated for the following data: [S]

(AB) = 10, (AB) = 30, (aB) = 40, (afp) = 120.

Compute coefficient of correlation between X and Y for the following
data:

X 106( 117 121| 130|142 | 135|179 | 140

Y 89 |1 91 |97 | 110|120 130| 150|102

Interpret your result. [10]

1)  Explain the concept of central tendency of a data and state one
situation each where mean, median and mode are appropriate as
average. [5]

ii) Define regression coefficients and state three properties of it. [5]

For the following frequency distribution compute mean deviation about
median. [10]

Class-interval | 10-20 | 20-30 [ 30-40 | 40-50 | 50-60

Frequency 15 17 20 29 19

[4801]-145 3



04) Attempt any one of the following. [1 x 20 =20]

a) 1)
ii)
i)

b) 1)
ii)

i)

[4801]-145

Explain the concept of population and sample with an illustration.

[3]
Define harmonic mean and state its merits. [5]
Verify the consistancy of the following data: [10]

N = 100, (A) = 40, (B) = 39, (C) = 41,

(AB) = 38, (AC) = 35, (BC) = 37.

Compute karl Pearson's coefficient of skewness for the following
data: [12]

Class-interval 0-10{ 10-20| 20-30| 30-40( 40-50

Frequency 15 22 25 20 18

Compute spearman's rank correlation coefficient for the following
data: [6]

X | 172 170 150f 140 168| 185

Y | 256 260| 245| 249 258| 275

If a and b are any two observations such that a>o0 and b>o, then
state the relation between A.M., G.M. and H.M. [2]

XXXX



Total No. of Questions : 4] SEAT No. :

P163 [Total No. of Pages : 4
[4801] - 146
F.Y. B.A.
PHILOSOPHY
G - 1: Introduction to Philosophy
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any two questions in 50 words each. [10]
i)  Explain the notion of profession.
i1) Explain the concept 'Ruta'.
iii) State the etymological meaning of Philosophy.

iv) Describe the nature of Dialogue as a method of Philosophy.

Q2) Write short notes in 100 words each. (Any four) [20]
1)  Virtue
i1) Epistemology
ii1) Aristotle's theory of four fold causation.
iv) Retributive theory of punishment.
v) Classification of systems of Indian Philosophy.

vi) Knowledge and belief.

PT.O.



03) Attempt any three questions in 200-250 words each. [30]
1)  State and discuss subjective Idealism.
i1)  What is Justice? State the types of Justice.
ii1)) Explain fully the notion of Nishkam Karma.
iv) State and discuss dualism in Samkhya darshana.

v) Explain in detail the notion of Categorical Imperative.

04) Attempt any one question in 500 words. [20]
i)  Elaborate fully the basic tenets of Advait Darshana.

ii) State and critically discuss the nature and types of Hedonism.

XXXX
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Total No. of Questions : 4]

P163 [4801] - 146
FY. B.A.

R HNIC]
G - 1: Introduction to Philosophy

(2008 Pattern)
(TS TUTaR)

gz : 3 ard]

o .~ 1) @ T97 TS0 Havas g,
2) SRS I gUl uT FIIATA.
3) @gulardt ges TSl gvaalaET ggrel.

[ 7zor 707 : 80

gg7 1) WIeAIdehl HIUTTE S T ST Teehl 50 Isard =m.
1) TGE™E § Heu TE &,
i) SBa’ & Weheudn TE &
iii) ‘ToeATETR a1 ITeETa SCAIIEN 37ef T
iv) TN Uk Ugdt FRUd HaTe T 9ui .

gg72)  Welicidenl HhIvTeargl arier It 100 s fur forgr.
) wE
ii)
iii) ofeeieeren sy o figra
iv) WemEsden afawne oo
V) YRR AR JuTTeie SRt
vi) T ot fagma

[10]

[20]



g7 3) TWIelicTieh! ShivTeTgl diF Il 3w Jedeht 200 visara . [30]
i) =ohig fagang wiga @l ==l w0
i) ‘S TEUS S ? SR YRR S,
iii) s o =1 FHeuaer WYUt Tt =
1v) HEa HTE gadg |R[ el < 4.
v) ‘Freufees smewr o sweunel Afer TasieRT .

97 4)  Wieliciiehl ShIvTTE Teht Tgara 3w 500 vrsera . [20]
i) 373 T Y Frgr fereamgees |

ii) |EEKER e d T6R GFF @l i Tt &.
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[4801]-146 4



Total No. of Questions : 4] SEAT No. :

P164 [Total No. of Pages : 4
[4801] - 148
F.Y.B.A.
FOUNDATION COURSE (Restructuring)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain the following concepts in 50 words each. (any two) [10]
i)  Merits of Religion.
i1) Classification of science.
1) Disinvestment.

1v) Reservation

02) Write the following short notes in 100 words. (any four) [20]
1)  National Integration.
i1) Economic Inequality.
ii1)) Self Employment.
iv) Rule of Law.
v) Global warming.

vi) Superstitions.

PTO.



03) Write the answers of the following questions in 200 to 250 words each.
(any three) [30]

1)  State the characteristics of Indian culture.
i1) Define the effects of growing population.
ii1)) Explain the causes of unemployment problem.
iv) State the characteristics of Indian society.

v) State the effects of science and technology on Agriculture and Rural
Development.

Q4) Write the answer any one of the following in 500 words. [20]
i)  Explain the merits and demerits of Indian Democracy.

ii)  State the what is pollution, and explain the types of pollution.
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Total No. of Questions : 4]

P164 [4801] - 148
F.Y.B.A.
YA SIYITEShA (gARIA)
(2008 TZH)
(& FUIR)
d : 3 ] [ Tt 7ot - 80
g o~ 1) @& 997 @ISt sEavas .
2) SRS 3 gUl uT FIIAT.
3) dewfmdl g U gvTaieT ugrE.
gy7 1) Y& Geheu Tl 50 vise T8 HU. (W ) [10]
i)  emie T
ii) o anfieon
iii) eI
1v) IR0
gy72) Ué fewn weht 100 viega fotgt. (%R 9n) [20]

i) v R

i) ameffes Fwwen
iil) TEEIRINR

iv) e R
V) SWTfdeh aqEE 916
vi) srusrgn



g7 3) g@e ugArEt 200 @ 250 e S ot (W i) [30]
i) v s AR w.
ii) clieEE ade iomm fare .
iii) SRR GUE= RO T8 &,
iv) WRdE ST Sfow A,
v) o snfur e et @ o ferekren st uftom @i,

g974)  UEcUehl HIVETE Ut T3 500 e ST feral. [20]
i) WA ARITER 0T S T8 A

ii) TIGUUT TEURS WE,E FRT IGUUTS TehR €62 .
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Total No. of Questions : 4] SEAT No. :

P165 [Total No. of Pages : 4
[4801] - 149

F.Y. B.A.
NATIONAL SERVICE SCHEME
G -1 : Social Service and Youth
(Revised 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1)  All questions are compulsory.

2)  Figures to the right side indicate full marks.

Q1) Answer the following questions in 50 words each. (any two) [10]
i)  State the concept of social work's.
ii)  State the types of N.S.S. Camp's.
iii) Explain the role of college Advisor Committee.

iv) State the aim's of N.S.S.

Q2) Write short notes in 100 words each. (any four) [20]
1)  Over Population.
i1) N.S.S. Volunteer's.
ii1)) Village adoption.
iv) Regular activities.
v) Collection of Information.

vi) Social service.

PTO.



03) Answer the following questions in 200 - 250 words each. (any three) [30]
1)  State the objectives of N.S.S.
i1) State the function's of N.S.S. Programme officer.
ii1) Explain the Analysis of Data collection.
iv) Explain the special camp's activities.

v) Explain the slum adoption Programme.

Q4) Answer the following questions in 500 words each. (any one) [20]
1)  Explain the Inter-relationship between Education and Social service.

ii) State and explain the organizational structure of N.S.S. at National
level.

XXXX
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Total No. of Questions : 4]

P165 [4801] - 149
EY. B.A.
. 9. el
Sl - 1 : GHISTEET 3707 Jaeh
GTRA 2008 UeA)
(TS TUTR)

g : 3 arq] [ TzuT 7797 - 80
o .~ 1) @ T97 qSlav Havas g,

2) IweiEler e guf qoT F9iEar.

3) @uarst ges A TR TETl.
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o7 3)  wreler gl S 200 - 250 vieaid S Rl (Rowd @) [30]
i) A G s T
ii) .. TS A LRI S G,
iii) wmRlt / dea HererTe ferverauT fomTg .
iv) foor PR wriwn woe w0,
v) gfera St geieh hiishu faTg .
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i)  Toremn enfur T@Ter e T AEEEY TE w1

i) . T YA UTdest S qeed 1 90T, F T8 &,

XXXX

[4801]-149 4



Total No. of Questions : 5] SEAT No. :

P166 [Total No. of Pages : 4

[4801] - 150
F.Y. B.A.
ADULT EDUCATION
Adult Education & Extension
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Discuss the aims and objectives of extension education. [20]
OR

Describe the Adult Education Programmes after independence.

02) What are the developmental programmes in your district. [20]
OR

What do you mean by the social change and explain two theories of social
change.

03) Need and importance of health education. [20]
OR

What are the eradication of illiteracy programmes in your village in last 5
years.

PTO.



04) Define NLM and write the National Policy Education 1986.

OR

[20]

Write the importance of Adult Education Programmes in democratic India.

Q5) Write short notes an any two:

a)
b)
c)
d)

National Literacy Mission
Sakshara Bharath Programme
Literacy Movement

Functional Literacy

XXXX
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Total No. of Questions : 5]

P166
[4801] - 150
F.Y. B.A.
ADULT EDUCATION

Adult Education & Extension
(2008 Pattern)

(AT EUTR)

gez : 3 amE] [ vz5ur 7797 : 100
o .— 1) @ 997 Qislau JEavas g,

2) Iwdimsier s qul quT FEET.

3) @gulardt ges 7Sl gvaaiaET ggrel.

gg7 1) TR P s a st ah ==t =. [20]
ferent
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Total No. of Questions : 6] SEAT No. :

P167

[Total No. of Pages : 3

[4801] - 153
F.Y.B.A.

TSk @dl : SiehvEe

Functional Hindi : Vocational

U9AUA -1 : (2008 UeH)
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vii) Tem

PTO.



yg7 2) Taetciea | @ Tl 9t w fevafore ferRe : [10]

) argeRR 343
g7 3) AW, TASAUTHT, TASTHTET ST 3R T8 FifsTe, [12]
Sdialil
TEeres o fafay st @ fagem R |
go7 4) freafalea #@ @ fedl & % 3w fofe [15]

@) Hieh e Fuimren ot

W) WIH T % ®U 1 uie G|

M) SMAEAUA & TE AR - HE ?

T)  IAE % THR T HIN |

F) Het hi STAIaH SHIEA BT URTT ST |

g7 5) @) Fefeiea gt e | s Hifw [7]

foreneft 29ia TrET M Ao Uil SEAl. SE A geerdl d Teuardl
AL, HHTAT JBbt T AT, S AT HO g hed g, AW qgaEd
AT TTed ATE!. U SZIaare $o51 TRl ST, JUT o HIEd FUaTd e 9
Teh |IEE 3. @ ohepd ATE1. ThEeT S Tl Uit it fed STesvama geam
FId. ATEFIdea JEaehior Haidl 4TE USd. il UTesal GIRTATd. & ShivTere areH
Hie, HAYE B ATE. Sa TESTH 1 g, T6ad areH J Sl shiid
Tl IHRTEAT & HATAT 1A & SHAEIAUUITE 968 AR, a9 g dasit
Y@l AT T o1 TPl Al TR STt

[4801]-153 2



am) Toren weTeE SigaTe =R HeE o foru siqaTee ug & wifer staeHus fafgu)  [8]

yo7 6) FfeRea | @ fohdl di W Revanfra forfe: [18]
®) AR % UHR,
W) WRAY ATHS ..... TN 91 HRTT &4,
M)  EE-gT okl AT,

°) AR g A gEwA ol T,

XXXX

[4801]-153 3



Total No. of Questions : 3] SEAT No. :

P168 [Total No. of Pages :2
[4801] - 155
F.Y. B.A.
COMPUTER APPLICATION (Vocational)
(Paper-1)
(2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :-
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions. (Any three) [15]
1)  Explain two input/output devices
i1) Differentiate between internet and Intranet
iii) Explain any five features of MS Word

iv) Explain elements used to create slides in Power point presentation

Q2) Solve the following. [10]
1)  Convert from binary to decimal
a) (11011100),
b) (10011101),
i) Convert from Decimal to Hexadecimal
a) (430),
b) (211),,
1i1) Binary Addition
10011 + 1010

PTO.



iv) Binary Subtraction
11001 — 10011
v) Binary Multiplication

1101 x 1110

(03) Write short notes on (Any five) [15]
1)  Web browser

i1) Secondary Storage devices
i) ASCII code

iv) Operating System

v) HTML

vi) Levels of Computer Languages

XXXX
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Total No. of Questions : 4] SEAT No. :

P169 [Total No. of Pages : 3
[4801] - 157
FY. B.A.
COMPUTERAPPLICATIONS (Vocational)
Theory (Paper - II)
(2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates :-

1) Draw a neat-labeled diagram wherever necessary.

2)  Figures to the right indicate full marks.

Q1) Explain following functions with syntax and example. (any five) [S]
1)  clrscr()
i1) main()

1) getchr()
1v) strlwr()
v)  strdup()
vi) strlen()

vii) atio()

Q2) What will be the output of the following modules . (Any four) [8]

1)  main()

intl=2j=5;
if(I==2&J==5);

Printf("\n welcome toabc");

PTO.



11) main()

{

int a

floatb

scanf(™% f %c",a,b);
Printf("%f%c",&a, &b");

j

11) main()
{
int i, j:
forG=1;1i<=215;i++)
{
printf (“\n”);
forG=1;3<=1;j++)

print £(“%d”,));

}
1v) main()
{
int a = 500, b, c;
if (a > = 400)
b = 300;
¢ = 200;
printf (“\n %d%,d”, b, ¢);
}
v) main()
{
int x = 1;
while (x == 1)
x=x-1;
print f (“\n %d” x);

[4801]-157



vi) main()

{
char s[] = “Welcome to Pune”;
mti=0;
While (s[i] ! = \0’)
{
print f (“\n %c”,s[i]);
1++;
}
}
03) Write Short Notes. (Any five) [15]

1)  Flowcharts
i1) Variables in C
ii1)) Logical operators
1v) Functions
v) Types of Array
vi) If condition
Q4) Answer the following. (Any three) [12]
1)  Write a program to calculate simple interest.
11) What is algorithms in C language?
1i1) Write a program to check whether given year is leap or not.
1v) Explain Loop concept with 2 examples.

v)  What is switch case statement in C language?

XXXX
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Total No. of Questions : 5] SEAT No. :

P1984 [Total No. of Pages : 12
[4801]-528

F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
G -1 (A) : Defence Mechanism of India
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:-
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any one of the following questions. [20]
a) State the various types of Aircraft in Indian Air - Force.

b) Explain the help of chart the Higher Defence organization of India.

02) Attempt any one of the following questions. [20]
a) Describe the principle of Defence organization.

b) Trace the growth of Indian Navy Since 1947.

03) Attempt any one of the following questions. [20]
a) State the characteristics, role and Limitation of Engineers.

b) Describe the principle of Defence Administration.
04) Attempt any one of the following questions. [20]

a) Explain in detail the Infantry Battalion organization.

b) What are the characteristics, role and Limitation of the Navy?

PT.O.



05) Write short notes (Any Two) :

a)
b)
c)
d)

Assam Rifles

Coast Guard

Chief of Staff Committee
Role of Army Medical Corps.

[4801]-528 2
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Total No. of Questions : 5]

P1984

[4801]-528
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(2013 UeA)
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Total No. of Questions : 5]

P1934 4801]-528
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
(G - 1) (B) : Military Thinkers in 19" century
(2013 Pattern)

Instructions to the candidates :-
1)  All questions are compulsory.
3)  Figures to the right indicate full marks.

Q1) Attempt any one of the following questions.
a) Explain the clausewitz's concept of 'strategy’'.

b) Describe the Moltke's theory of War.
02) Attempt any one of the following questions.
a) Explain the clausewitz's Principles of War.

b) Explain in detail the effects of Versailles Treaty.

03) Attempt any one of the following questions.

a) Describe the thoughts of Luddendroff regarding total War.

b) What are the elements of Sea power?

04) Attempt any one of the following questions.

a) Explain the Jomini's Principles of War.

b) Describe the effects of Blitzkreig techniques an second World War.

[20]

[20]

[20]

[20]



05) Write a short note (Any Two) : [20]
a) Che Guevara.
b) Mao - zedorg.
c) J.F.C.Fuller
d) Alfred Schlieffen
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Total No. of Questions : 5]

P1984

4801]-528
F.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
(G - 1) (B) : Military Thinkers in 19" century
(2013 Pattern)
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Total No. of Questions : 5]

P1984 4801]-528
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
(G-1) (C) : Post Cold War India's Security Environment
(2013 Pattern)

Instructions to the candidates :-
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any one question of the following .

[20]

a)  What are the Political changes in International security of post cold War

period?

b) Describe the India's External security challenges.

02) Attempt any one question of the following.
a) Explain the various Issues of Environment?

b) Explain the India's counter Terrorism Policy.

03) Attempt any one question of the following.
a) State the structure and functions of NAFTA.

b) Explain in detail New International Economic order.

04) Attempt any one question of the following.
a) Describe in detail the Emergence of New world order.

b) Explain in detail Human security problems.

9

[20]

[20]

[20]



05) Attempt any two short notes of the following

a)
b)
c)
d)

Impact of Globalization

Types of Terrorism
Acid Rain

National Counter Terrorism Center (NCTC)

[4801]-528 10
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Total No. of Questions : 5]

P1984

4801]-528
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES

(G-1) (C) : Post Cold War India's Security Environment

(2013 Pattern)
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